I udten weldt
\l National Testing Agency

Test Date : 21 reb 2023 Test Slot : siot 2

Subject : 74-Women Studies

Sl. No.1
QBID:174001

Who has argued that "culture has higher value than nature. Culture is the means by which man controls and
regulates the nature."

1. Sherry B Ortener
2. Ann Oakley

3. Margaret Mead
4. Belty Friedan
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Who has authored the book "Black Feminist Thought : Knowledge, Consciousness and the Politics of
Empowerment".

1. Kate Millet
2. Patricia Hill Collins
3. Nancy Chodorow
4. Vandana Shiva
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Find out what is true about Micro, Small and Medium Enterprises (MSME's) in India.

This in a very gender sensitive sector

Substantial contribution in terms of creation of productive employment.

A small enterprise demands less than 10 lakh Rupees investment in manufacturing sector.
Low technology requirements.
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According to the Human Development Report, What is the Human Development Index (HDI) rank of India in
20227
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United nations adopted Convention on Elimination of all forms of Discrimination Aganist Women (CEDAW) in
the year :

1. 1945
X 1979
3. 1975
4. 1982
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While analysing popular culture and consumerism who has condemned racism, classism and sexism.

. Julia Kristeva
. Luce Irigaray
. bell hooks

. Kate Millet
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Which wave of feminism has first advocated for women and girls to be in control of their bodies?

. First Wave of Feminism

. Second Wave of Feminism
. Third Wave of Feminism

. Fourth Wave of Feminism
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Which section of IPC deals with voluntarily causing hurt by the use of acid?

. Section 326
. Section 420
. Section 496
. Section 556
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Who has argued that "In standpoint epistemology 'the understanding of the relation between knowledge and
power present in Marx's work provides important criteria for what can count as better, or more priviledged
knowledges"?

1. Nancy Hartsock

2. Liz Stanley

3. Patricia Hill Collins
Maria Mies
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A person who has only one X Chromosome (as against XX or XY in the 46th pair of chromosomes) is said to
have :

1. Turner's syndrome
2. Klinefelter's syndrome
3. Transexual syndrome
4. Cisgender syndrome
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Germaine Greer used the phrase female Eunuch to denote :

1. Women's inherent biological superiority

2. The Societal idealisation of women
3. Patriarchal castration of women
4. Women's motherhood
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Which one of the following is not a form of qualitative research?

. Case study

. Survey

. Oral history

. Focus group discussion
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Which of the following concept was established as a major global strategy for the promotion of gender equality
in the Beijing platform for Action from the Fourth United Nations World conference on Women in Beijing in

19957

. Gender mainstreaming

. Gender Equality

. Sex-Disaggregated Data
. Gender Development
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Janani Shishu Suraksha karyvakaram (JSSK) was launched on :

. 1st June, 2011

. 1st July, 2012

. 1st September, 2013
. 4th December, 2014
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When some individuals develop feelings that they have a sense of gender that is opposite to the biological sex,
they are born with is known as :

1. Cross gender disorder
2. Gender dysphoria
3. Gender incompatibility disorder
4. Bi-gender disorder
1) 1
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(3) 3
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Who suggested that gender is the product of various social technologies, such as cinema and the media :

. Teresa de Lauretis
Mary Wollstonecraft
. Angela Davis

Mary Daly
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Who won the International Booker Prize 2022 for the novel Tomb of Sand ?

1. Anita Desai
2. Arundhati Rao
3. Geetanjali Shree
4. Salman Rushdie
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In 1973, in the USA, The Roe vs Wade judgement :

1. Gave women the right to have an abortion before the fetus is viable outside the womb or before the 24-28
weeks mark.

2. Asserted that a fetus is a "person’ Protected by the 14th Amendment.

3. Protecting prenatal life from the time of conception is a compelling state interest.

4. States have an interest in safeguarding health, maintaining medical standards and protecting prenatal life.
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The Nursing Break applicable to a mother who has returned to her duties after availing maternity leave until the
child attains 15 months of age is :

1. One break during the working hours including the regular internal / rest period
2. One break during the working hours excluding the regular interval / rest period.
3. Two breaks during the working hours including the regular intervals / rest period.
4. Two breaks during the working hours excluding the regular intervals / rest period.
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Which of the following explains "Crude Birth Rate"?

. Number of children below five years of age per thousand of women in the reproductive age group per year.
. Number of births per thousand of women in the reproductive age group per year.

. Number of births per thousand of the population per year.

. Total number of births per year in the country.
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India signed an agreement with which country to co-operate in health and medicine and support "Green
Healthcare"?

1. France

2. Brazil

3. Italy
4. Israel
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Who among the following authored "Gendering Caste".

. Leela Dube

. Irawati Karve

. Vandana Shiva

. Uma Chakravarti
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Who has defined empowerment in terms of three inter related concepts : agency, resources and achievements?

1. Sherry B Ortener
2. Naila Kabeer
3. Kamla Bhasin
4. Bina Agarwal
1) 1
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(3) 3
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Who is the author of the "Transfeminist Manifesto"?

1. bell hooks

2. Sara Ahmed

3. Kimberly Crenshaw
4. Emi Koyama
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"Feminisation of Labour", means :

1. More women in all kinds of jobs.
2. More women in less kinds of jobs.
3. Less women in all kinds of jobs.
4. No women in jobs.
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Who wrote "The Subjection of Woman"?

1. John Stuart Mill
2. Mary Daly

3. Margaret Fuller
. Jacques Derrida
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Identify the sampling method which can be used for a population that has no official list of names of the
members, secretiveness about their identity and difficult to locate people.

. Deviant Sampling

. Quota Sampling

. Chain-referral Sampling

. Random Sampling
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In which of the following models the media is seen as powerful and able to inject ideas into an audience who are
seen as weak and passive?

. Uses and gratification model
. The hypodermic model

. Two step flow theory

. Cultivation theory
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Name the philosopher who coined the expression "The medium is the message".

1. Vladimir Propp

2. Stuart Hall

3. Marshall McLuhan
4. Roland Barthes
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The concept of socialisation of "Domestic Labour" was used by :

1. Margaret Benston
2. Kate Millet
3. Shulamith Firestone
4. Nancy Chodorow
1) 1
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(3) 3
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As per National Family Health Survey-5, which of the Indian state has recorded the highest adolescent fertility
state?

1. Tripura

2. Rajasthan
3. Goa

4. Uttrakhand
1
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Mother and child tracking system under Ministry of Health and Family Welfare is :

1. A web-based system to ensure registration and tracking of all Pregnant women and new born babies.
2. A system of operationalisaton of sub-centers, primary health centers, community health centers and District
Hospitals for providing 24 = 7 basic and comprehensive obstetric care services.
3. A system of Mother and Child Protection Card to monitor service delivery for mothers and children.
4. A system of Engagement of Accredited Social Health Achivists (ASHASs) to generate demand and facilitate
accessing of health care services by the community.
1) 1
(2 2
3) 3
(4) 4
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Amma Canteen in Tamilnadu endorses which Marxist feminist concept.

1. Socialization of Domestic Work
2. Wages for House Work

3. Reproductive Work

4. Theory of Comparable Worth
1) 1
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(3) 3

4 4

ATAEATS H ST =i [ HIaRidTd ] ARIATE] SaeRUN & Y g ?

1. IR BT DI FHTSINBR]
2. e & fae qiRyfis
3. Yo BT
4. Ja B RIgid

1) 1

) 2

(3) 3

4) 4

1[Option ID=7529]
2[Option ID=7530]
3[Option ID=7531]
4[Option ID=7532]
Sl. No.34
QBID:174034

Under National Legal Service Authority (NALSA) judgement the Supreme Court has upheld the right of all
persons to self identify their gender within the frame work of the fundamental right to dignity, under which

Article of Indian Constitution :

1. Article 3
2. Article 12
3. Article 21
4. Article 377
(1) 1
() 2
(3) 3
(4) 4
1 fafdieh Yo Yol (T1.0.0e. .0 & [0l & siavid S=rad =amaray 3 iy sif=da & Siaid
TRAT & Aifd® feR o To@ & Hidr 3 5= (i) &1 W9 uga &3 & 9+ afaddl & fIaR

DI U 3§ ?

1. 3G - 3
2. TG - 12
3. 3™G - 21
. 3I=5G - 377

(1) 1
) 2
(3) 3
(4) 4

s

1[Option ID=7533]
2[Option ID=7534]




3[Option ID=7535]
4[Option ID=7536]

Sl. No.35
QBID:174035

According to Fredrick Engels what is true about private property

1. Private property historically increase women's social position.

2. Private property was a feminine creation.

3. Women considered children as property.

4. Private property led to male-domination over female sexuality and reproductive power.
1) 1

2) 2

(3) 3

(4) 4

IheRd Uoied & HFUR HfekiiTd GHfd & dR H S YU el 6 2

1. T grgid A Ufceiye U I afgarsil o g [d # il &1 |

2. G GHfd U Wl-Heel T @ |

3. Higas{i 7 &= &l gfd & 9§ |71 |

4. AfRTTTd Trfd A Afgasr o1 DfAbdr SR Hoi fdd TR YoN-d=i¥d Bl {1 R {6 |
@

(3) 3

4) 4

1[Option ID=7537]
2[Option ID=7538]
3[Option ID=7539]
4[Option ID=7540]
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Which of the following Indian State Practices Uniform Civil Code :

1. Goa
2. Karnataka
3. Gujarat
4. Uttar Pradesh
11
() 2
(3) 3
4) 4

FrafeRa o 9 fory g H GH ARTRE Wigdl @] 6 ? (Uniform Civil Code)

1. Tl
_Plcd

4, I U
1) 1
(2) 2
(3) 3
(4) 4

b b2

1[Option ID=7541]
2[Option ID=7542]
3[Option ID=7543]
4[Option ID=7544]

Sl. No.37
QBID:174037




The process under which wife initiates divorce proceedings under Islam is known as :

1. Talaq

2. Khula

3. Muslim Dissolution of Marriage Act, 1939
.Ila and Zihar

1) 1

(2 2

3) 3

(4) 4

SEAH & S id Ydl gRT fadTg - fa=de &l PRI Yo S DI Ulchal 1 fvd &Y H SHT ST 6 2

=

1. T
2. gl

3. gReiH fqarg fages sifafgs, 1939
4. 31 3R forgR

1) 1

2) 2

3) 3

(4) 4

1[Option ID=7545]

2[Option ID=7546]

3[Option ID=7547]
4[Option ID=7548]

Sl. No.38
QBID:174038

Which of the following is a non-probability sampling method?

. Self-Selection Sampling.
. Cluster Sampling.

. Systematic Sampling.

. Stratified Sampling.
1

) 2

(3) 3

(4) 4

fafaRad # 9 S P ryTe] ufaaa fafs g 2

1. ¥9-=0 fa=a
2. g wid=a-
3. aRRyd wfc=g
4. ¥ d ufdaa
1) 1
(2) 2
3) 3
(4) 4

W I =

=

1[Option ID=7549]
2[Option ID=7550]
3[Option ID=7551]
4[Option ID=7552]

Sl. No.39
QBID:174039

Fat positivity is the concept that :

1. Fat people have the right to love and accept their bodies as they are.

2. Fat bodies are inherently unhealthy

3. Women should conform to standards of health which require them to be physically fit.
4. Being fat means women are more susceptible to temptation.

@) 1
) 2




3) 3
(4) 4

AleTar Jaeh SRS (Be gificiiddh) dg SauRuN 5. foaH aar AFT Sdr g 2

1. Hic faddi &l UH B3 3R I 30 I IRR DI WIDR B3 ] HUPR g, a1 fb dg g |

2. Hi¢ IRR 3{dHd T Y SRARIDI Bld & |

3. Afganeii @ WA & 39 AFSD| &l OTd- ST 9Nie U, o fau 39% &R fihe g1 2Mawad ¢ |
4. \1¢ B4 &1 o1 I ¢ fob AfgAn Uaiy= # St S S § |

(1) 1

2) 2

3) 3

4) 4

1[Option ID=7553]
2[Option ID=7554]
3[Option ID=7555]
4[Option ID=7556]

SI. No.40
QBID:174040
1)

Who said, "Mothering can be extended to any relationship in which one individual nurses and cares for another".

. Alison Jaggar

. Elaine Showlater
. Kate Millet

. Betty Friedan

1) 1

() 2

(3) 3

(4) 4

fAufaRad 4 U foa 1 g - A 1id fdl ot Tdy aob fawaiid g1 9o ¢, ord ve o gaR &l
a1 YW Ud GEHIE B g " 2

1. T OTR
2. 3 Yl
3. e fide
4. 9gl I3e

1) 1

() 2

(3) 3

4) 4

L I o B

g

1[Option ID=7557]
2[Option ID=7558]
3[Option ID=7559]
4[Option ID=7560]

Sl. No.41
QBID:174041

Identify the major lacunae of Artificial Reproductive Technology (ART) & Surrogacy Act 2021.

A. Discriminates against LGBTQL, live in couple.

B. Paternalistic and heteronormative values are allowed.
C. Single men and unmarried women are included.

D. Complete ban on commercial surrogacy.

Choose the correct answer from the options given below :

. A, B. C Only
.B, C, D Only
. A, C,D Only
4. A, B.D Only

1
2
3




3) 3
(4) 4

HIEH Yo YIB! (TR E) 3R TR iiFgH, 2021 B 5= SF! B UgdM Hifoig :

A. I8 TdSiteic Iy +; ferd-g1 Sisi & Ufd HaHEgui ¢ |

B. 394 fIqERicA® 3R WI-03Y HdY & A Jedl B 3§ |
C. 31 Udhd YN 3R fqaried Afgdd MAAE |

D. T d SR U guf wicae

Hid fau T fadhedi | I gl 3R &l 90+ DIVIU ;

1.$hdd A, B, C
2. $dd B, C.D
3. Hdd A, C,D
4.%dd A, B.D

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=7561]
2[Option ID=7562]
3[Option ID=7563]
4[Option ID=7564]

Sl. No.42
QBID:174042

Swarnajayanthi Gram Swarozgar Yojana (SGSY) a scheme which :

A. Offers credit-cum subsidy to the beneficiaries & banks involved in this process.

B. Seeks to promote multiple credit rather than a one time credit input.

C. Provides for skill development through training courses in technology. marketing, information etc.

D. Is aimed at women's empowerment through the building of confidence by encouraging thrift and savings.

Choose the correct answer from the options given below :

1. A, Band C Only
2. A, Cand D Only
3. A, Band D Ounly
4.B, C and D Only

(1)1
() 2
(3) 3
(4) 4

wquierfa UM TERISHIR T (TS89 dls.) Th hiH ¢ |, Sl

A. 39 Ufchar & Infia anuiidfar 3R S&f & Fur-ug-afeis <l § |

B. SUSI 3% U SRA( B (AP & qorrd dgiael 01 bl deral ol ¢ |

o8 Wﬁmwwﬁﬁqumwa?mw@aﬁmﬁwwmmm%

D. %\Hd}l 322y [HHId 3R F9d B! Yidlied B TEIYR AT & Jread 4 Afgdl S=Afdd®H 0l SRl
|

i fau 1T fadheq| § 9 el IR &l 99 Hifoie ;

1. A A, B3R C
2. FAd A, C R D
3. Had A, B3R D
4. $9d B, C 3R D

@) 1




() 2
3) 3
(4) 4
1[Option ID=7565]
2[Option ID=7566]

3[Option ID=7567]
4[Option ID=7568]

Sl. No.43
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The important variables for assessing nutrition of under five children are ;

A. Weight

B. Height

C. Age

D. Activity level

Choose the correct answer from the options given below :

1. A, B and C Only
2. B, C and D Only
3. A, Cand D Only
4. A B and D Only

1

(2 2

(3) 3

(4) 4

ie Y | HH 3R] P qdli H YU P ST & oY Ayl Ok PIA-HH UG :

A. duld

B. dHE

C. g
D. 9ihadl 1 &R

Hid fau e fadhedl | 9 el 3R &l 99 DIVIU ;

1.$dd A B3R C
2. HAAB. C 3R D
3. HAd A, C3RD
4. Had A. B3R D

1) 1

() 2

(3) 3

4) 4

1[Option ID=7569]
2[Option ID=7570]
3[Option ID=7571]
4[Option ID=7572]

Sl. No.44
QBID:174044




Health and wellness centres in India address health issues related to :

A. Hypertension

B. Diabetes

C. Breast Cancer, Oral & Cervical Cancer
D. HIV/AIDS

Choose the correct answer from the options given below :

. A, B, C Only
.B, C, D Only
. A, C,D Only
4.A.B.D Only

1
2
3

(4) 4

YRA ¥ WA 3R R de5 W el FyieRad el &1 FaRu &Rd 3 :

A. HfRaIed

B. AYHE

C. W IR, 9 AR Yalghd 8’
D. Td.3M5.dl. / UgH

Hid fau T fadhedi | I el 3R &l 94 DIoIU ;

1.$hdd A, B, C
2. $dd B, C,D
3. Hdd A, C,D
4.%dd A.B.D

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=7573]
2[Option ID=7574]
3[Option ID=7575]
4[Option ID=7576]

Sl. No.45
QBID:174045

Which of the following initiatives is / are launched for addressing "Mental Health Issues"?

A.KIRAN

B. Manodarpan

C. Sugamya Bharat Abhiyan
D. UDAN

Choose the correct answer from the options given below :

1. A & B Only
2.B & C Only
3.A&D Only
4.D & C Only

1) 1

(2) 2

(3) 3

(4) 4




AFRP Wy Heefl g & gurer & fau Fufalkdd § 9 e g R S 156/ 6 -

A. fur (KIRAN)

B. THIGYU

C. IR HIRA 3{fHar
D.3eH

T fau U A el § O Ug! IR &1 994 Hifo -

1. $ad A 3R B
2. HAd B 3R C
3. Hdd AR D
4. HFAD AR C

1) 1

() 2

(3) 3

4) 4

1[Option ID=7577]

2[Option ID=7578]

3[Option ID=7579]
4[Option ID=7580]

Sl. No.46
QBID:174046

Women's studies as a field has evolved over the years :

A. It embraces the study of not just women but of all genders.

B. The field has multiplied and become plural

C. In some cases it has changed its name from women's studies to women and gender studies.
D. It deals with studies conducted by women.

Choose the correct answer from the options given below :

1. A, B, C Only
2. A, B, D Only
3.A,C,D Only
4.B, C,D Only

1) 1

(2 2

(3) 3

(4) 4

fosc a9l # U &7 & 0 # W ereqg fafefad dk R faeRa gen g -

A. 3TH A dad Tl diesh G fefill &1 sreng= A gan g |

B. 9% &7 fUrd Ml ¢ SR §gidey ST § |

C. DS SiTg W 31 (U 1 Tl AT & dacddb Tl AR oA g R [ g |
D. I el gRT fhT 71T sengi g Wefia g |

i faU U faded § U Tl IR &1 999 HIfT :

1.hdd A, B, C
2. $dd A, B.D
3.Hdd A, C.D
4. $ddB,C.D

(1)1
2) 2
3) 3
(4) 4




1[Option ID=7581]
2[Option ID=7582]
3[Option ID=7583]
4[Option ID=7584]

Sl. No.47
QBID:174047

The Indian feminist publication business :

A. Advances feminist causes and prints academic, fiction, memories and non-fiction writings.

B. The history of feminist publishing is interesting but not of utmost importance.

C. Recognizes and supports women's causes.

D. Kali for women, Zubaan, women unlimited, Tara Books, Tulika, Stree are some feminist publisher.

Choose the correct answer from the options given below :

1. A, B, C Only
2. A.B, D Only
3.A,C,D Only
4.B, C,D Only

YR ARIAE] Yh1RH ogadr :

A. TRIATE SRIDRI DT 3R 9eIdl ¢ AR Af&P, BT, YR 3R HAUR ol bl Hfsd HRATS |
B. ARIATE! UebT= I gy Wb ¢ R Hdiid Hgayul 181 g |

C. el & WISRI DI ARG <l 3R 35T GRAT HRATG |

D. BTl BR GH, &, THA SHIAHCS, TR o4, D, Tl P& ARIdIE UPIRH B |

HId fau T fashedi § I el 3R &l 94 DI ;

1.$hdd A, B, C
2. Hdd A, B, D
3.%dd A, C,D
4. $bdd B, C.D

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=7585]
2[Option ID=7586]
3[Option ID=7587]
4[Option ID=7588]

Sl. No.48
QBID:174048

In 1905 Rokeya Sakhawat Hossain wrote a short story "Sultana's Dream" describing :

A. How very advanced her country would be if woman ruled.

B. Woman rulers of "Lady Land" defeated the nation's enemies by harnessing the Sun's power.

C. In Hossain's created world there was technological efficiency and because of it, harmonious rule.
D. Rokeya depicts the real world.

Choose the correct answer from the options given below :

1. A, B, C Only

2. A, B, D Only

3. A, C,D Only

4.B, C,D Only
1) 1




) 2
3) 3
(4) 4

aN 1905 H, ¥hdT AAIGd g8 4 (15 H I [Heb1 90 Hd §U TP oY U GedF1'S S ferd] o -

A. e T e Sl 9 36T ¥ fahaHT i Jad gl |

B. delde P Tl AMGD! A fbd YR G Dt Afckqdl D1 UGN Heh <= & GIAA! I URIFSId fobar |
C. 5O &R Yford YR H Ui ig prraar ot 3R 39®! aoig 9 dlergyul 2 |

D. ¥l U ardided TR H1 guiH Hdl g |

Hid faUu T fadhedi | I el 3R &l 99 DIIU :

1.$hdd A, B, C
2. Hdd A, B, D
3. Hdd A, C.D
4. $bdd B, C.D

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=7589]
2[Option ID=7590]
3[Option ID=7591]
4[Option ID=7592]

Sl. No.49
QBID:174049

Which of the following are correct about WID (Women in Development) approach?

A. Gained momentum in the 1970's

B. Addressed disparity of economic opportunity

C. Focuses on Economic participation.

D. It deals with disparities and power relations between men and women.

Choose the correct answer from the options given below :

.A. B, C Only
. A, C,D Only
. A, B, D Only
.B, C, D Only

1) 1
(2) 2
(3) 3
(4) 4

Soey 313 2. (e 7 o) =fpdivr & Ty Faffed f S SH-eH T ael g 2

A. 1970 & G¥IH H 39 T1(d el |

B. 394 31 ® a8 H SRIHEI UR &4 fear 7 |

C. 7g 3M1fe URfeRl R eF-Sfd aRarg |

D. U8 YN 3R el & ali g Sramaradl iR =ik dafel ¥ Yeieq g |

Hid fau T fadhedl § I el 3R &l 94+ DIVIU ;

1.$hdd A, B, C
2. HAd A, C,D
3. %dd A, B,D
4. $bdd B, C.D

@) 1

ST N




() 2
3) 3

(4) 4

1[Option ID=7593]
2[Option ID=7594]

3[Option ID=7595]
4[Option ID=7596]

Sl. No.50
QBID:174050

Simone de Beauvoir in The Second Sex :

A. Argues that the fundamental source of Women's oppression is its [Femininity's] historical and social

construction as the "other".
B. Turns the existential mantra that existence precedes essence into a feminist one.

C. Defines woman as the second sex because women are defined as inferior to men.
D. Asserted that women are not capable of choice as men and this makes them inferior.

Choose the correct answer from the options given below :

1. A, B, C Only
2. A, B. D Only
3.A,C,D Only
4.B, C,D Only
1) 1
2) 2
3) 3
(4) 4

o g dI3aR A e bs Yo' 4

A.ﬁﬁg%%ﬁﬂmﬁﬁwwﬁm G b w0 H VgD IR GHIfsid ¥4 J 3161 (TR1d)
e

B. KI@Td H7 Bl 39 UBR FeUd 41 g & el 9 &1 3uSi g | _
C. Tl I g el & =0 H gRHId Bl ¢ Hifd Radl o1 gesi § HHdR &9 H gRHIMNd fhar g |
D. Ig alal a1 for et == 3 H gon! ol G =gl ¢ it d Joul A HHAMKR G |

i f3U TTU f[dded| § ¥ gl IR &l 999 DI :

1.Pdd A, B. C
2. Hdd A, B, D
3.Hhdd A, C.D
4.$dd B, C,D

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=7597]
2[Option ID=7598]
3[Option ID=7599]
4[Option ID=7600]

SI. No.51
QBID:174051




Which of the following books were published by Kali for Women?

A. Radha Kumar's The History of Doing

B. Vandana Shiva's Staying Alive

C. Kumkum Sangari & Sudesh Vaid's Recasting Women
D. Susie Tharu & K. Lalitha's Women Writing in India.

Choose the correct answer from the options given below :

1. A, B. C Only
2. A, C,D Only
3.A.B.D Only
4.B, C, D Only

(4) 4

FafiiRad d 9 SI-3H d g&dh Sreil BIR gH gRT UHIRId § 2

A THUTHHAR Bt e &l 3 g3

B. d&HT fRrdl ®l TSI '

C. PHGH TR 3R Y= & B APIRET gHT
D. Yl U1 3R & dAlerd $I gHA i 34 Sisar

Hid fau T fadhedi | I el 3R &l 94 DIoIU ;

1.$hdd A, B, C
2. Hdd A, C,D
3. Hdd A, B, D
4. $bdd B, C.D

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=7601]
2[Option ID=7602]
3[Option ID=7603]
4[Option ID=7604]

Sl. No.52
QBID:174052

Reproductive Rights include :

A. Individual's right to plan a family

B. Determinations of sex of unborn child.
C. Access to contraception

D. Access to reproductive health services.

Choose the correct answer from the options given below :

1. A, Band C Only
2. B, C and D Only
3. A, Cand D Only
4. A, Band D Only

1) 1

() 2

(3) 3

(4) 4




o 3SR # M § -

A. it 1 URAR (AIeH 1 HfihR
B. 31oi s= T feftT Fufzor

c. RyST de UgT

D. YoI-I-1 W Harsf db Ugd

T fau U A el § O Ug! IR &1 994 Hifu -

1. T A B3ARC
2. $ad B, C IR D
3. Had A, C 3R D
4. FdAA. B3RD

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=7605]
2[Option ID=7606]
3[Option ID=7607]
4[Option ID=7608]

Sl. No.53
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The variables used in measuring the global gender gap index include :

A. Economic Participation and Opportunity
B. Educational Attainment

C. Political Empowerment

D. Violence Against Women.

Choose the correct answer from the options given below :

1. A, B and C Only
2.B, C and D Only
3. A, Cand D Only
4. A, B and D Only

1 1
() 2
(3) 3
(4) 4

A%y i SR YeAhich Dl AU dled <RI H WMA B -

A. 3@ YRR 3R 3R
B. Qi&® Iudled

C. ISHAP FRITGIHR]

D. Redi & f[a&g fgan
i faU U A el § 9 98! IR &1 99 Hiflu ;

1. $adA. B3R C
2. $Had B, C IR D
3. HAd A, C 3R D
4. A A B3RD

1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=7609]
2[Option ID=7610]
3[Option ID=7611]
4[Option ID=7612]

Sl. No.54
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The three core principles of CEDAW are :

A. Substantive Equality
B. Non-Discrimination
C. State Obligation

D. Decision-Making

Choose the correct answer from the options given below :

1. A, B and C Only
2. B, C and D Only
3. A, Cand D Only
4. A, B and D Only

(1) 1
(2) 2
(3) 3
(4) 4

YTl (CEDAW) & oI Hd Rigid dH-d- U g :
A. AT AFET

B. ¥EHId q S
C. I H aIiad
D. [ufg &=

Hid fau T fadhedi § 9 ol 3R &l 99 DIoIU :

1. FadA. B3R C
2. $Hdd B, C 3R D
3. Had A, C 3R D
4. A A B3ARD

1 1
() 2
(3) 3
(4) 4

1[Option ID=7613]
2[Option ID=7614]
3[Option ID=7615]
4[Option ID=7616]

Sl. No.55
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POCSO Act addresses a wide range of sexual offences, which include :

A. Complete and partial Penetration
B. Non-penetrative sexual assault
C. Beating a Child

D. Showing children pornography

Choose the correct answer from the options given below :

. A, Cand D Only
. B, Cand D Only
. A B and C Only
. A BandD Only
1 1

I N




) 2
3) 3
(4) 4

i (POCSO) SHAUFTH H 3F® UHR & dfTd 3MaRiei O ear4 fear a1 g s anfaa g

A. g01 3R SifR1b Ja=H
B. TR-Ud¥M «lidH gHdl
c. fordt = Bl dien

D. =i ®I GRS feRamT

Hid faUu T fadhedi | I el 3R &l 99 DIIU :

1. $dA. C3RD
2. $ad B, C 3R D
3. Had A, B3R C
4. A A B3RD

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=7617]
2[Option ID=7618]
3[Option ID=7619]
4[Option ID=7620]

Sl. No.56
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Which of the following are the characteristics of a successful entrepreneur :

A. Risk-taking

B. Autocratic

C. Team Building
D. Innovative

Choose the correct answer from the options given below :

.A.Band C Only
. A, CandD Only
. B, C and D Only
.A,Band D Only

1) 1
(2) 2
(3) 3
(4) 4

ol e ot | Pafafad # 9 $H-w O fAgyai gid & -

A, SIRGH IaMI
B. W[N]
c. ¢ fAmior
D. ddi=yu]

Hid fau T fadhedl § I el 3R &l 94+ DIVIU ;

1. $dd A, B3R C
2. FFA A, C 3R D
3. HFAB, C 3R D
4. A A, B3RD

@ 1

ST N




() 2
3) 3
(4) 4
1[Option ID=7621]
2[Option ID=7622]

3[Option ID=7623]
4[Option ID=7624]

Sl. No.57
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Gender Empowerment Measure is calculated on the basis of ;

A. Women's Employment.

B. Women's seats in Parliament

C. Women's Education

D. Women's share of household income.

Choose the correct answer from the options given below :

1. A. B and C Only
2. A, C and D Only
3. A.Band D Only
4. B, C and D Only

1)1
(2) 2
(3) 3
(4) 4

T geIfaam ol Iurl & FafaRad 7 9 59 & R R yRafad a9 g -

A. et 1 ASATR

B. O4e H Rerdl 1 4ie

c. i 1 e

D. O, 31 H el T g

Hid fau T fadhedi | I gl 3R &l 90+ DIVIU ;

1. $adA. B3R C
2. FAd A, C 3R D
3. Had A, B3R D
4. $dd B, C 3R D

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=7625]
2[Option ID=7626]
3[Option ID=7627]
4[Option ID=7628]

Sl. No.58
QBID:174058




Feminist Research aims at :

A. Research on women

B. Research about women
C. Research only by women
D. Research for women

Choose the correct answer from the options given below :

1. A, B. C Only
2. A, B, D Only
3.B.C,D Only
4. A, C,D Only
1) 1
) 2
(3) 3
(4) 4

ARIATET e & ded DIT-I T :

A. e gdfelt orgdem™

B. edl & IR ¥ S
C. Had Rl gRT AU
D. el & e SqRieq

Hid fau T fadhedi | I el 3R &l 90 DIoIU ;

1.$hdd A, B, C
2. Hdd A, B,D
3. $dd B, C.D
4. bdd A, C.D

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=7629]
2[Option ID=7630]
3[Option ID=7631]
4[Option ID=7632]

Sl. No.59
QBID:174059

Equal Remuneration Act provides that :

A. Women and men will be paid equally for doing the same work.

B. The act is applicable to women working in the unorganised sector only.

C. The employer is bound to maintain a register of the workers.

D. There will be no discrimination against women workers in any condition of service like promotion, training
or transfer

Choose the correct answer from the options given below :

1. C and D Only
2. Aand D Only
3. Aand B Only
4. B and C Only

1

(2 2

3) 3

(4) 4




T giRgHS A8y d FefaRad 9 S-S UEayH &

A. Rei 3R oS! &1 YHM 1 B & et GHMH Y fhgn S |

B. U8 SMUMYHA dad sr&widd &2 H Brivd Redl )R dF i g |

C. FMUS® BRI &1 T o §11E Ra- & (U ST ¢ |

D. YA WIRI&07 41 RIFTIRUT ST TaT &l {6dl a2 § Wl SR & [d9G $is UeHTd 9l ol |

T fau U A el § O Ug! IR &1 994 Hifo -

1. Fad C 3R D
2. Had A 3R D
3. hdd A 3R B
4. FaAB 3R C

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=7633]
2[Option ID=7634]
3[Option ID=7635]
4[Option ID=7636]

SI. No.60
QBID:174060

One of the major causes of high maternal mortality rate in India is

A. Anaemia among women

B. Institutional delivery

C. Adolescent pregnancies

D. Inadequate Post Partum Care

Choose the correct answer from the options given below :

1. A, Band C Only
2. A, Cand D Only
3.B, Cand D Only
4. A, Band D Only

1) 1

(2 2

(3) 3

(4) 4

HRA H 3= HIdcd JAeX & THE PRUTH Y TH G -

A. gl & Iaareqan

B. G&INTd H4d

C. [PeRERT § TR

D. Ud IWId AU SaHTd

=i faU U faded § U Tl IR &1 999 HIfT :

1. FadA. B3R C
2. Had A, C 3R D
3. $Had B, C 3R D
4. FFAA. B3ARD

(1)1
2) 2
3) 3
(4) 4




1[Option ID=7637]
2[Option ID=7638]
3[Option ID=7639]
4[Option ID=7640]

Sl. No.61
QBID:174061

Which of the following are amongst the UNDP sustainable Development Goals.

A. Good Health and Well being

B. Quality Education

C. Industry Innovation and Infrastructure
D. Social and Cultural Empowerment

Choose the correct answer from the options given below

1. A, B, C Only
2. A.B, D Only
3.A,C,D Only
4.B, C,D Only

(4) 4

fafafRad # 9 SH-61H 9 7,g7. 31U, Juuiig f[derg aedl # e g

A. 331 W@ 3R R

B. T[0Ty &l
C. JERT AT 3R A

D. THIST 3R Hikeplddh TRl
i< AU 7Y fdp el H 9 99 Iugdd IR &1 98 DI -

1.$hdd A, B, C
2. %dd A, B,D
3. Hhdd A, C.D
4. $bdd B, C.D

11
(2) 2
(3) 3
(4) 4

1[Option ID=7641]
2[Option ID=7642]
3[Option ID=7643]
4[Option ID=7644]

Sl. No.62
QBID:174062

Institutional initiatives for women's issues in the post-independence period are

A. Constitutional provisions and social legislation
B. Indian Association for the Progress of Women
C. Women's Political Representation

D. The Women's Indian Association

Choose the correct answer from the options given below

1. A and B Only
2. Aand C Only
3. Aand D Only
4. B and C Only

@ 1




) 2
3) 3
(4) 4

A1 9T Dt A H Rt &1 gHEraf & ot YRR Ugd S-S Il g 2

A. a4 UIaeT SR A1 [qe
B. 5T THIRIUR BREWUY 1% qHH
C. el &1 e yidi-fere

D. f& gru Sfsar vaifie==

i< faU 7Y fdh el H 9 99 Iugdd IR &1 98 DI -

1. $ad A 3R B
2. Fad A 3R C
3. Had A3RD
4. FgAB 3R C

(1)1
) 2
3) 3
(4) 4

1[Option ID=7645]
2[Option ID=7646]
3[Option ID=7647]
4[Option ID=7648]

Sl. No.63
QBID:174063

Alison Jaggar organised her discussion of "Women's alienation" under Unified System Theory of Socialist
Feminism, describing her fragmentation under :

A. Motherhood

B. Sexuality

C. Productive work
D. Intellectuality

Choose the correct answer from the options given below :

A, B.D Only
B. C, D Only
A, B, C Only
A, C,D Only

1.
7.
3.
4.
(1) 1
(2) 2

3) 3
(4) 4




UferE SR =1 gHTSIaTd] Tdidre 1 Udblhd Uil Risid & eidiid &l geuesor ddsi st ==
ST 1, ForaH 15 & 3favid I faERTd o1 9uiH fhar g -

A. g
B. bl
C. 3da® B
D. Sifgadm

i< f4U 71U f[dh el § 9 Ul IR &1 99 Hifu ;

1.®dd A, B.D
2. $dd B, C.D
3. Hdd A, B, C
4. bdd A, C,D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7649]
2[Option ID=7650]

3[Option ID=7651]
4[Option ID=7652]

Sl. No.64
QBID:174064

Identify the women who were part of the Constituent Assembly :

A. Dakshayani Velayudhan
B. Begum Aizaz Rasul

C. Sucheta Kriplani

D. Laxmi Sehgal

Choose the correct answer from the options ziven below -

. A, B, C Only
. A, B, D Only
.B, C, D Only
. A, C,D Only

(1)1
) 2
(3) 3
(4) 4

fafeRad § 9 39 Ragi &1 ug=n-u o Siaem 9y o1 o o -
A. & dagyT

B. &l1TH Quilvi Ry«

C. AT U
D. d&H ggid

HId fau T fadhedi H I Tol 3R &l 98- DIIU :

1.hdd A, B, C
2. $dd A, B.D
3. $dd B.C.D
4. Pdd A, C.D

1) 1
() 2
3) 3

S S T O R




(4) 4

1[Option ID=7653]
2[Option ID=7654]
3[Option ID=7655]
4[Option ID=7656]

Sl. No.65
QBID:174065

Which are the three states of India where 73rd and 74th Constitutional amendment provisions are not applicable?

A. Assam

B. Meghalaya
C. Mizoram
D. Nagaland

Choose the correct answer from the options given below

1. A, B, C Only
A. B, D Only
C, D Only

2
3. B,
4.A.C.D Only

YR & d HIF-4 i I § ogl 739 SR 74d Hdurie e & Iu«y dF] el el -

A. 3H

B. 44Uy
C. TASiRe
D. ANGS

i< feu 7Tu f[deedi # O Tol 3R &1 994 DIl :

1.$dd A, B, C
2. $dd A, B.D
3.%dd B, C.D
4. Pdd A, C,D

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=7657]
2[Option ID=7658]
3[Option ID=7659]
4[Option ID=7660]

Sl. No.66
QBID:174066

Match List I with List IT

LIST I (Name of Theorists) LIST II (Their Contribution)
A Martha Nussbaum I. [Dalit feminist standpoint

B. |Judith Butler II. [Ecofeminism

C. Maria Mies I11. |Gender Performativity

D. |Sharmila Rege IV |Capability approach

Choose the correct answer from the options given below:

1. A-1IV, B-1, C-1I, D-III
2. A-III, B-1I, C-1IV, D-1
3. A-I, B-1I, C-1IL, D-IV
4. A-1V, B-III,C-II, D-1




1) 1
(2) 2
(3) 3
(4) 4

Gl 11 YT 1 9 e eifsy
T 1 (Rridaniedl & =) T 11 @ITEr)
A

AT HA 1 [aferd IRiare] efpeiu
B. [FSY sgeR I [oiR-ARidae
C. [AiamiaEg L [cifie Ul
D. [=ifar & IV. |&@d1 U

i f4U 71U f[dhedi § 9 Ul 3R &l 99 HIfu :

1. A-IV, B-1, C-1I, D-1II
2. A-II1, B-1I, C-IV, D-1
3. A-L, B-II, C-TII, D-IV
4. A-IV, B-III,C-1I, D-I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=7661]

2[Option ID=7662]

3[Option ID=7663]
4[Option ID=7664]

Sl. No.67
QBID:174067

Match List I with List IT

LIST I (Women Publishers) LIST II (Publication Houses)
A [Urvashi Butalia I [Vivago Press
B. [Ritu Menon II. Ms. Magazine
C. |Glora Steinem III. [Fubaan Books
D. |Carmen Callil IV. [Women Unlimited

Choose the correct answer from the options given below:

1. A-I, B-1I, C-III, D-IV
2. A-III, B-1I, C-1V, D-1
3. A-IIL B-1V, C-1I, D-1
4. A-III, B-1V, C-L, D-II

1) 1
) 2
(3) 3
(@) 4
Gl 11 gt 11 9 fAaH Sifee
T 1 @feem 11 (USPTRT TTE)

A [3d=R gerfed L [qar ug

B [BdHH il EEEEIE

C. faRar w9 . [oeH g9

D. [®1Hd e V. [ sEfifcs

il faU 7Y fqsp el H 9 ggl 3R 1 9a Sifoig ;

1. A-I, B-II, C-III. D-IV
2. A-III, B-II, C-IV, D-1
3. A-III, B-1V, C-I1, D-1
4. A-IIT, B-1V, C-1, D-II
(1) 1
) 2




3) 3
(4) 4

1[Option ID=7665]
2[Option ID=7666]
3[Option ID=7667]
4[Option ID=7668]

Sl. No.68
QBID:174068

Match List I with List IT

LISTI LISTII
(Types of family) (Bases of classification)
A i Pailosal g [OQmhisbaste GEmarriags
practice
B. Matrilineal and Patrilineal II.  |On the basis of authority
C. [Patriarchal and Matnarchal III.  |On the basis of residence
D. Monogamous and Polyvgamous IV.  |On the basis of ancestry

Choose the correct answer from the options given below:

1. A-I, B-III, C-II, D-IV
2. A-I B-1I. C-1II, D-IV
3. A-III, B-1V, C-II, D-1
4. A-IV. B-I1I, C-I1. D-1

(1) 1

) 2

(3) 3

(4) 4

G 11 gl 1Y e i

T 1 (TRAR S UBR) | FAT 11 (@B P SHUR)
NS L [Faee wTe @ #uR

BrRIIEE 58
B. [Mgazig AR Oqazia| 0. [WieR & H1YR )

. [ TS SR A

€ . [Fard & STYR &R

i U fadTe! HR 98 -
g e :

[PARRT & YR T

i< fau 71U A el | 9 Ul 3R &1 99 Hiflu :

1. A-L, B-I11I, C-11, D-IV
2. A-L, B-1I, C-III, D-IV
3. A-III, B-1V, C-II, D-1
4. A-IV, B-111I, C-II, D-I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=7669]

2[Option ID=7670]

3[Option ID=7671]
4[Option ID=7672]

Sl. No.69
QBID:174069




Match List I with List IT

LISTI LISTII
(Concepts) (Theorist)
A |[Compulsory Heterosexuality I |[Laura Mulvey
B. [Feminization of Poverty II.  |Diana Pearce
C. [Male Gaze IIT.  |Adrienne Rich
D |[Eco-feminism IV. |Francoise d' Eaubonne

Choose the correct answer from the options given below:

. A-1, B-1I, C-III, D-IV
. A-IL, B-IIL, C-IV, D-1
AL B-11L, C-1, D-IV
ATV, B-ITLL C-I1L, D-1
1) 1
) 2
(3) 3
(4) 4

S T N

G 11 gl 1Y e i

T 1 (TYRUITT) T 11 (Fagiaane))
A [rAar 98 dHsar I [dRTHEEd
B. [FEHa &1 ARG I [/ ot
C. [geuigrRIdial 1. gsgaia
D. [OiAriaR IV [Whichig I ga-TelH

i fau U faheq| § 9 Tl IR &l 999 Hifoie ;

1. A-I, B-II, C-TII. D-IV
2. A-IL B-III, C-IV, D-1
3. A-II0, B-11, C-I, D-IV
4. A-1V, B-I1, C-I1, D-I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=7673]

2[Option ID=7674]

3[Option ID=7675]
4[Option ID=7676]

Sl. No.70
QBID:174070

Match List I with List IT

LISTI LISTII
(Founders) (Organisations formed)
A [Swarnakumari Debi I. [Bharat Str1 Mahamanda
B. |Sarala Debi Ghosal II. [Sakhi Samiti
€ Al D Chittipadlia. | BT N iahona.l Federation of Indian
Women
D. [Aruna Asaf Ali IV |All India Women's Conference

Choose the correct answer from the options given below:

1. A-I, B-II, C-IV, D-1II
2. A-II, B-1V, C-II1. D-1
3. A-Il, B-1. C-IV, D-1I1
4. A-IV. B-I1, C-1, D-1II

(1) 1

(2) 2

(3) 3

(4) 4




G 11 gl 119 e Sifon

T 1 (TRITUH) a::ﬁumnﬁam
A [auGHRIcdl HRd Wl HEHsd
B. [G¥dlcdl OiuTd I |5l |
‘ ST e 3
C. [@HdGd g™ | 1L ke £
D.  [BEUN HEE A v m@ﬂqg%mm

< faU U A el § 9 Ug! IR &l 99 Hiflu -

1. A-I, B-II. C-1IV, D-II
2. A-11, B-1V, C-111, D-1
3. A-1I, B-1, C-1V, D-III
4. A-IV. B-II. C-1. D-III

(1)1
) 2
(3) 3
(4) 4

1[Option ID=7677]
2[Option ID=7678]
3[Option ID=7679]
4[Option ID=7680]

Sl. No.71

QBID:

174071

Match List I with List IT

LISTI LISTII
(Acts) (Year)
A [Muslim Women (Protection of Rights on Divorce) Act | I [2019
B. |The Muslim Personal Law Shariat Application Act IL. 1939
C. Muslim Women (Protection of Rights on Marriage) Act| I11. (1986
D. |The Muslim Marriage Dissolution Act IV. |1937

Choose the correct answer from the options given below:

1. A-L, B-Il, C-1I, D-IV

2. A-III, B-1IV, C-1, D-11
3. A-II, B-1, C-1V, D-IIT
4. A-IV, B-11, C-111, D-I

1) 1
) 2
(3) 3
(4) 4




Gl 1 G1Y gl 11 DT e BHiforg

T 1 (SATU=am)

T @

R (fdaTe-
A o= W AR
EA) SfTaTH

I poi1e

ElRIEEL]

SREGEERE]

I 1939

e ¥l (fqare )
C  [|3fErRR TRam)
STETH

. |1986

D, [ARH f9aTE fageT
 [efeEE

V. [1937

< fau U A el & 9 Uel IR &l 99 Biflu ;

1. A-I, B-IT, C-I1, D-IV
2. A-III, B-1V, C-1, D-II
3. A-11, B-1, C-1V, D-IIT
4. A-IV. B-1I. C-III. D-I

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7681]
2[Option ID=7682]

3[Option ID=7683]
4[Option ID=7684]

Sl. No.72
QBID:174072

Match List I with List IT

LISTI
(Women)

LISTII
(Movement)

Sushmita Dey

I,

lArmed Forces Special Powers Act (AFSPA)
Protests

Gaura Devi

II.

Chipko Movement

[rom Sharmila

11

Stop Acid Sale

Olofw| »=

ILaxmi Agarwal

IV.

[Lahu Ka Lagaan (Stop Taxing Sanity Napkins)

Choose the correct answer from the options given below:

1. A-IV, B-II. C-1. D-III
2. A-TI, B-III, C-IV, D-1
3. A-IIL B-1I, C-I, D-IV
4. A-I, B-IL, C-III, D-IV

1) 1
(2) 2
3) 3
(4) 4




Gl 1 G1Y gl 11 DT e BHiforg

T 1 (AfEm A1 11 (3ATare)

eI o (92 Qidaal

A [gEHETS L [erEE )
(TUH.TH.HL.Y) 52y

B. fiicdr I [O®! e

C e e I [<7E 1 f5p1 § Bl
[eTE &1 ST (e

D. [a&H sFard IV, [Hafee W & QT
6 B

i faU U faded § 9 Tl IR &l IU9 HIfT :

1. A-IV, B-II, C-I, D-III
2. A-II, B-I1, C-IV, D-1
3. A-IIL B-1I, C-1, D-IV
4. A-I, B-1I, C-1II, D-IV

1)1

(2) 2

(3) 3

(4) 4

1[Option ID=7685]

2[Option ID=7686]

3[Option ID=7687]
4[Option ID=7688]

Sl. No.73
QBID:174073

Match List I with List IT

LISTI LISTII
SDG No) (Goal)

A ISDGI I. |Qualitv Education

B |SDG 4 II. No poverty

C. ISDG 6 II1. [Reduced Inequalitives

D |SDG 10 IV. |Clean Water and Sanitation

Choose the correct answer from the options given below:

1. A-L B-1I, C-III, D-IV
2. A-1L, B-1, C-IV, D-1II
3. A-1V, B-III, C-1I, D-1
4. A-1IL, B-1V, C-I, D-II

1) 1
() 2
(3) 3
4) 4
G 1 F1Y Gl 11 DT e BHifoy
1(@HE3TS) = 11 (F8)

A EE3SL1 N UEGIECSIE

B. [t93Sh 4 I [T =T

C. [TgSisle Il [&4 g5 SEaFdl

D. [CEStSl 10 IV, [OOSR Saesdl

i faU U f[dh el | 9§ 98! IR &l 99 Hiflu :

1. A-I, B-II, C-III, D-IV
2. A-1I, B-1, C-IV, D-III
3. A-IV, B-III. C-II. D-1
4. A-IIT, B-1V, C-I, D-II
(1) 1
) 2




3) 3
(4) 4

1[Option ID=7689]
2[Option ID=7690]
3[Option ID=7691]
4[Option ID=7692]

Sl. No.74
QBID:174074

Match List I with List IT

LISTI LISTII
Gender in different levels of education) (Percentage)
W }’\[;ﬁmen in Higher Education (AISHE 2019- 1 65460
B. [Female Literacy (2020) II. |27.3%
C. |Secondary School Enrollment of Girls (20203 | III. [75.28%
D. PMale Literacy (2020) IV. [82.14%

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-III, B-1I, C-IV. D-1
3. A-Il, B-1. C-III, D-IV
4. A-II, B-III, C-IV, D-1

(1) 1

) 2

(3) 3

(4) 4

Tl 1 G1Y gl 11 DT e Biforg

1 (Rren & farm fire ==t
e o bl
S 2167 1 Afgand
A |waETguEs 2010- L |65.46%
b0)
B. [AfRT WERT (2020) L 73%
AT ol 5
C. [dsical &l THieA . [75.28%
2020)
D. [J%Y HI&Rd (2020) IV [82.14%

i faU U fdh el § 9 9g! IR &1 99 Hifolu ;

1. A-I, B-II, C-III, D-IV
2. A-III, B-II, C-1IV, D-1
3. A-II, B-1, C-1I1, D-IV
4. A-II, B-II1, C-1V, D-1

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=7693]

2[Option ID=7694]

3[Option ID=7695]
4[Option ID=7696]

Sl. No.75
QBID:174075




Match List I with List IT

LISTI LISTII
(Authors) (Writings)
A |Amartva Sen I. |Theory of Justice
B. |John Rawls II. [Development as Freedom
C. |[Ronald Dworkins ITT. |On Liberty
D 1.5 Mill IV, [Taking Rights Sertously

Choose the correct answer from the options given below:

1. A-IL, B-L, C-IV, D-1II
2. A-I, B-I, C-IIL, D-IV
3. A-III, B-1I, C-IV, D-1
4. A-IV, B-1II, C-II. D-I

1) 1
() 2
3) 3
4) 4
T 1 F1Y gl 11 DT e BHifog
T @EH) T [ (GE® &7 )
A |3 T L e ot aifeeq
B. [ofH I8 1L |Sdqudc o pisd
C. RHFIE Sarie—g L. |of feraet
S E R
D. o ug fia V. Loomers
i< 3T ¢ fab el T 9 Tl SR &l 98- BHIfSIU ;

1. A-II, B-1, C-1V, D-III
2. A-1, B-II, C-1II, D-IV
3. A-IIL, B-II, C-IV, D-1
4. A-IV, B-111, C-II, D-I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=7697]

2[Option ID=7698]

3[Option ID=7699]
4[Option ID=7700]

Sl. No.76
QBID:174076

Arrange the following chronologically :

A. World Conference of Human Rights

B. International Conference on Population & Development
C. World Conference on Education for All

D. Third UN World Conference on Women

Choose the correct answer from the options given below :
C BandD

. B.Dand A
.D.Aand C

1.
2.
3.

UdﬁD>

4.
1)1
) 2
(3) 3
(@) 4




(Hifhd D1 DIAHHTHR HafeUd oY -

A. fay aHarfieR gHdH
B. WW@UW#H@JIHIC!CMH NEENE

C. gdb foru e favas fay gwieq
D. Tcl1g Tk Y Afg el e

T fau U A el § O Ug! IR &1 994 Hifu -

1.D.C.A3RB
2.A.C.B3RD
3.C.B.D3RA
4.B.D.A3RC

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=7701]
2[Option ID=7702]
3[Option ID=7703]
4[Option ID=7704]

Sl. No.77
QBID:174077

Arrange the following schemes in chronological order :

A. Swadhar Greh

B. Nirbhaya Fund

C. Beti Bachao Beti Padho Scheme

D. Pradhan Mantri Matritva Vandana Yojaya

Choose the correct answer from the options given below :
1.AB,CD
210,
3.A,
AL,

4
UUﬁ
e~ I
WA

1) 1
(2) 2
(3) 3
(4) 4

i d 1 HIAHHTIR ayd ® :

A WIUR T
B. f+fan &1y
C. 41 g=rel 3¢ uerell WA
D. TTHT AT d&T1 IToi

I (30 TTU [ eyl | U 9al 3R &1 99 Hifofu :

C.D

W
npFpopr

Soow
> W
WA

i

1 1
(2) 2
(3) 3
(4) 4

1[Option ID=7705]




2[Option ID=7706]
3[Option ID=7707]
4[Option ID=7708]

Sl. No.78
QBID:174078

Arrange the following autonomous organisation under the Ministry of Women and Child Development according
to their establishment :

A. Central Social Welfare Board

B. National Institute of Public Co-operation and Child Development
C. Rashtriya Mahila Kosh

D. Central Adoption Resource Authority.

Choose the correct answer from the options given below :

B Dand C
. D,Aand B
.D.Cand A

L.
2.
3.

tﬂﬁ}

4.
(1)1
(2) 2
(3) 3
(4) 4

Afg el 3R o1d [A 1 HaATer & Mifdd TR 161 Bl ITh! RITUA b TR HafRd HY

A. S AN D €IS
B. IS S WA 7R §Td faehry Ty
C. TP1a Afgar B

D. ©g1g adpUgU I8 UTeeu
I 30 U [ahedl H 9 9al 3R &1 99+ Pifofu -

1.A.C.B3RD
2.A,B,D3RC
3.C.D.A3RB
4.B.D.C3RA

) 1

() 2

(3) 3

4) 4

1[Option ID=7709]
2[Option ID=7710]
3[Option ID=7711]
4[Option ID=7712]

Sl. No.79
QBID:174079

Arrange the changes in abortion laws in India in chronological order :
A. Medical Termination of Pregnancy Act.
B. Abortion was criminalized describing it as intentionally caused miscarriage under section 312 IPC.

C. Unmarried women's access to abortion is recognized.
D. Increasing the gestational limit to 24 weeks for abortion.

Choose the correct answer from the options given below :

1.
2.
3

gwop
WP oW
ZOwn
anarg

1) 1
() 2




3) 3
(4) 4

YR & THYTT DIA! H URacH! Dl BIAh AR Haiedd d |

A. TRifercges g mgra uiReR srfafas

B. R 8 Yichdl dfgdl I 4RI 312 & iaiid TH DI SH-GHR [dhel B & BRI THUTT Bl
SRS S A T

c. sifqarfgd afgar & TuRY & 3ifIHR & AT < S

D. THYTT & [T T eRr 1 GHI-IHT (24 W) DI deral T/

< faU U f[ah el | § Ul IR &l 99+ Hifolu -

W 1
ANnPY

-
Own

W oW
e En

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7713]
2[Option ID=7714]

3[Option ID=7715]
4[Option ID=7716]

SI. No.80
QBID:174080

Arrange the following in life cycle approach

A. Peri Menopause
B. Menorrhagia

C. Menustration
D. Menarche

Choose the correct answer from the options given below :

1.AB.C,D
2
3

_tjtutj
P Ont
R
QP >

(1)1
(2) 2
(3) 3
(4) 4

i d &I Silad-deh & P 0T I HaRUd @ ;

Hid faUu T fadhedi § I el 3R &l 9 DIIU :

LA B.C.1D
2. D,C. B.A
3.B, D, C. A
4.D.A.B.C

1)1




() 2
3) 3

(4) 4

1[Option ID=7717]
2[Option ID=7718]

3[Option ID=7719]
4[Option ID=7720]

Sl. No.81
QBID:174081

Arrange the following research steps in right sequence :

A. Construction of hypothesis
B. Identification of variables
C. Codification of data

D. Referencing

Choose the correct answer from the options given below :

1.
2,
=

iz

PR
WP W
NPT
e O

1)1
(2) 2
(3) 3
4) 4

G & AHifdrd vl D1 el hH T gafyd o ;

A. R {0

B. URadl &1 ug=H

C. ST Bl hda (PIFSThDH )
D. TaH

I (30 TTU [ eyl | U 9al 3R &1 99 Hifofu :

1.A,B,D,C
2.B,AD,C
3B.A.C.D
4.A,B,.C.D

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=7721]
2[Option ID=7722]
3[Option ID=7723]
4[Option ID=7724]

Sl. No.82
QBID:174082




Arrange the following chronologically :

A. Commission of Sati (Prevention) Act.

B. Protection of Women from Domestic Violence Act.

C. Pre-Conception and Pre-natal Diagnostic Techniques (PCPNDT) Act

D. The Sexual Harassment of Women at Workplace (Prevention, Prohibition and Redressal) Act)

Choose the correct answer from the options given below :

1.AB,.CD
2,
3

b

> Or
e el
b=l
N> -

1)1
(2) 2
(3) 3
(4) 4

i d & FTAHATIR Taryd - :

A. gt (Farw) stfefraa
B. Afg e = foam TRaun siferfaH

C. THIYF-Yd SR Y9d-Yd ofid deb-iis (drdidieaaid) siffas
D. FTRE R Afgdl 91 Iadis (Faron, A8y 3 gamam) sifafaa

I (3T TTU [ eyl | U 9el 3R BT 99 Bifofu :

W
OCpwao
AP oo

= &P
Fonw

-

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=7725]
2[Option ID=7726]

3[Option ID=7727]
4[Option ID=7728]

SlI. No.83
QBID:174083

Arrange the following feminist texts in chronological order :

A. Chimamanda Ngozi Adichie, We Should All Be Feminist

B. Betty Friedan, The Second Stage

C. Mary Wollstonecraft, A Vindication of the Rights of Women
D. Simone de Beauvoir, The Second Sex

Choose the correct answer from the options given below :

1.C.D.B,A
2.A,B.C,D
3. D0.C.B. A
4.B. A D,C

(1) 1

(2) 2

(3) 3




it d ARIaTdl Bidal &1 HIashHITHR HafRid $1 ;
A. fFomme =l ufslt, df 313 oife ot hfafwe

B. d¢1 WBIeA, § g ol
C. B diekelq P, 31 [dfShr 3t < gey 3t ga
D. [{HF Sl diay, ¢ Udbs '

i< faU U faded § O Tl IR &1 999 HIfolT -

w1
Owow
SECES

s 2
Z0owo

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7729]
2[Option ID=7730]

3[Option ID=7731]
4[Option ID=7732]

Sl. No.84
QBID:174084

Arrange the progression of women's suffragette rights in India in chronological order :

A. State of Travancore granted voting rights to women.

B. Montague Chelmsford Reforms denied voting rights to Indian women

C. Govt of India Act made only 2.5% women eligible to vote

D. Indian Constitution granted equal voting rights to all Indian citizens irrespective of gender, caste, religion
and ethnicity

Choose the correct answer from the options given below :

1 AB CD
2.C.A,B,D
3. A, C.B.D
4.B,A,C,D

1) 1

(2) 2

3) 3

(4) 4

YR ¥ Afgdrsfi & AaidbR Wit Hl HIashHER HafRyd oY ;
A FAAUDHR Y | Afgereff B AAfTeR 4T 7g

B. HICH-A%IS YURI H YR Algarsil &l HaildR ¢+ U STHR a1

C. YR WRHR A8 | dad 2.5 fawd Afgaref &1 Ade™ &1 uEar < 1

D. YR Sfae™ 3 94T 4R ARG &1 994 JAdlifeR UM faear, are d faedt +f o, sfa, o, od
3yar yild & gf

i faU U fadh eyl § 9 el IR &1 999 Hifoie ;

bl
WE 0P
Popw
NwwN
v [ e |

=

@) 1
(2) 2
3) 3




(4) 4

1[Option ID=7733]
2[Option ID=7734]
3[Option ID=7735]
4[Option ID=7736]

Sl. No.85
QBID:174085

Arrange the following chronologically :

A. Structural Adjustment Programs (SAP)
B. Gender and Development (GAD)

C. Women in Development (WID)

D. Women and Development (WAD)

Choose the correct answer from the options given below :

1.
2.
3

2

D>ﬁb>b>
=il

B,
s B;
.B
B,

44‘.
U:PQUJ

1 1
) 2
(3) 3
(4) 4

(A 1 BITHATTIR HafRUd @ -

A. ST GHIISH SHRIHH (T4 T Ul
B. T1-7oY 3R fddhry (it T S
C. fasrg H Alga (Sseg 31 9))
D. Afgdl 3R [dh (S=g T S))

Hid fau T fadhedi | I el 3R &l 90 DIoIU ;

1.AG T B
2.A.D.B.C
3.C,D,B,A
4 A,C.B,D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=7737]
2[Option ID=7738]
3[Option ID=7739]
4[Option ID=7740]

Sl. No.86
QBID:174086

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Post-Covid situation witnessed a sudden increase in child marriages all over India.

Reason R : Uncertainty over life, lack of social security and economic distress were prime causes behind such
decisions.

In the right of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. Alis correct but R is not correct
4. A is not correct but R is correct
(11




) 2
3) 3
(4) 4

19 G DU AU T B : Ub A HDUT (Assertion A) b U H [e1ld 3 Al GHI IHP DRUI (Reason R) b =4
g

HfHBHYUT A : DIfdS-HEHRI b d1¢ G HRA H 3= dTdl-fadig & i g3 |
DRUIR : St DI AT, TrATforh GRa DI HHt 3R 31idd fauar T8 Mol & diss & uqa SR |
SWRIFd BY & 3Tl H, Ad 4T MU fdhedl # ¥ e Iugdd IR I 99 DIfoIg -

1. AR R GFI Yol g 3R R, A DI Ugl RS §

2. ASRRIHI el g 3R R. A DI gl AR ol &
3. AUGli g AR ol Tol o

4. ATE Tei g afFTR TRl ©

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=7741]
2[Option ID=7742]
3[Option ID=7743]
4[Option ID=7744]

Sl. No.87
QBID:174087

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Domestic violence is often triggered by the perception that a women has failed to fulfill her wifely
duties.

Reason R : These are issues of power and control shaped by gender difference.

In the right of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct
4. A 1s not correct but R is correct
1) 1
() 2
(3) 3
(@) 4
19 & Y ST B : U SHHBYU (Assertion A) & =U H [e1ldd g I 8T 3UD HRU (Reason R) b &Y
H:
AYDHYA A TR [T W TH TERUN Y Y Bldll ¢ b Plg Afgar A4 Ut GaH Dol Dl g DA H
3YHe TG © |
DRUIR : Y Qe SR A0 & He, g 578 offfi [2d1 gR1 daR [ha1 /g |
JWRIGd HY & 31l |, =i faU MU fdh el # 9 968 I9gad 3R DI 99 DIfy :

1. AR REH Ul g 3R R, A DI Ul RS §

2. AR R A TRl § 3R R, A DI Tgl AR ol §
3.AE€?%WRH€H€T§

4. ATEI Tol g Wl R Tl &

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=7745]
2[Option ID=7746]




3[Option ID=7747]
4[Option ID=7748]

Sl. No.88
QBID:174088

Given below are two statements :

Statement [ : Survey research. does not require triangulation method at all.

Statement IT : Triangulation is widely used in women's studies research.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT is correct
2. Both Statement I and Statement II is incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
3) 3
4) 4

CIERAEZIC A CLRI R

DY : GA&UT STHUTT b fe1Q By Ugid 1 fadpd S1aggehdr 1gl g |

HYT I : Aigal AHF SR H B Yl &1 A19s WA [6g1 Wi g |
SWRIFd BUA & 3Talld H, A< [§T MU [dhedl # 9 a8 I9gdd IR BT 9+ DIfoTg -

1. YT IR ISl Ul &
2. FUTIAR M EHI Tad &
3. HYF [ el g, dibd U I &
4. FUT 1A g, Al YA 11 el &

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=7749]
2[Option ID=7750]
3[Option ID=7751]
4[Option ID=7752]

Sl. No.89
QBID:174089

Given below are two statements :

Statement I : Post independent India did not witness any incident of Sati (widow immolation).

Statement II : Incident of Sati evokes complex questions of religious identity, communal autonomy, and role of
the law and state in a society

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II is correct
2. Both Statement I and Statement II is incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement IT is correct
1) 1
2) 2
3) 3
4) 4




e pyafeuug -

HYU [ : WAA-UIT & d1e YR J Toil g1+ (fAUaT 3Tdarg) $ @i gl Jof gel |

HUT 11 : Icll S Bl He1 Y FAIS H Ui Yg=, Yraiii wWradl 3R faf qur ed &1 Jffe &
SfeT HY IAFBId B |

JWRIad HY & 37l |, =i faU MU fddh el # 9 968 Iugad IR DI 99 DIfoy -

1. HYTI AR 1 a1 et o
2. HYF I AR I &I 7Tad &
3. HYF [ Tel g, dihd YA A &
4. FUT 1T &, AP FUA 11 el &

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=7753]
2[Option ID=7754]
3[Option ID=7755]
4[Option ID=7756]

Sl. No.90
QBID:174090

Given below are two statements :

Statement I : Women regardless of their working status, tend to spend more time caring for their children than
men.

Statement II : Traditional roles of motherhood have remeasured constant.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II is correct
2. Both Statement I and Statement IT is incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
(3) 3
4) 4

A= A By AT e E |

am?fzgwmﬁwwqﬂdqw drelt Afgey. TNt St gl H d=i W &1 ¢4 R 31 Ty Adld
DN E |

FHYA 11 : AN D1 RERAT YA gdad &1 el 6 |

JWRIGd HY & 3MTdld H, =i iU MY fdh el # I a8 Iugad IR &I 98- DIfoy :

1. FYT IR IS Uel o
2. FYF I AR I &FI 7Tdd &
3. FYTI TGl 6, AT YT I Tdd &
4. FYT1TTAd ¢, Afh- HU- 11 Tgl §

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=7757]
2[Option ID=7758]
3[Option ID=7759]
4[Option ID=7760]

Sl. No.91
QBID:174091




Read the passage carefully and answer the questions.

Psychologist Carol Gilligan is best known for her innovative but controversial ideas on the moral development of
women. Gilligan emphasized what she called an "ethics of care" in women's moral reasoning. She placed her
approach in direct opposition to Lawrence Kohlberg's theory of moral development, which she claimed was
biased against females and emphasized an "ethics of justice". Gilligan argued that men were not morally superior
to women. Instead, the reason women scored lower in Kohlberg's stages than men was that Kohlberg's work
discounted the voices of women and girls. She outlined this position in detail in her seminal book In a Different
Voice which was publised in 1982. Gilligan proposed that women don't stop developing morally at lower levels
than men, but that women's moral development simply continues along a different trajectory than the ethics of
justice measured by Kohlber's scale. Feminist psychologists are divided over Gilligan's work. While some
praised it, some have criticized it for reinforcing traditional notions of femininity that could continue to lock
women into care given role.

frafaRad mgiw o waeriyde u¢ ok i 3T e gyl & I difve:

HIIa7T e [T &) Afgared & Aide [dbr & aR H I Tar-aul, dic- fadrerue f[4=ri & fou
dgd 331 dke U ST Irdl & | FIERH A 39 91 W § (31 b 351+ Afgarsil & fadad & <aure &1
AR i (ST 24 HIR) B a1d Tol | 3614 ANy Sledd] & Aad [dH Rigia & gae oy o
YT IUTTH W o, forqH 31+ aral o blgaart o1 SUNTH Aigarsil & Uid garie! ¢ SR < &l
AR R aa e g | Fieliv = aab fean [ gey Afgans 3 98 761 € | 39 qulie, Hlgdat & =0 H
o &1 da-1 H Afgelisf & [HER ¥R &1 HRUIUE ¢ [d Pigdet & o 1 Afgarsd ud dsfbdl &
faaRl TR e e fern T | I ot g 3 U e alsq H 30 eRE I 31 faaR I EuRaE
TR DI, Sl 1982 H UDIIRId g3 At | [l = uxdifdd foban fob FEaR wR U= gou| &t o1 H Afg s o1
Afdd T4 U [dp™ 11 b, dich1 Dlgaiat & Thd UR AU 741 Higdl3il b1 Afde [ A/ 31 3R
I & T 4 AN IR WRAdl U SIRI gl ¢ | ARIGIE! Ao fdiH & S & aR | [qIisid ¢ 1 $9
A D] WG B 6. Tdich P 3= - AR O Bl 34 URFRE YRUN o GIadd 1 AT D1 ol
Aledrsii oI @-HId Waldl (HaR F1aR) & U H ST ofk| 319 bl ¢ |

Gilligan found that :

1. Women thought about morality different than men.
2. Women tended to score at lower stages of moral development than men.
3. Gilligan's approach was similar to Kohlberg's theory.
4. Women use universally applied ethics of justice.
1) 1
) 2
(3) 3
(4) 4

TR = g b

1. AfEANS Afedr & IR § goui 9 [HF I=di ¢ |

2. Aigdt Afde fahrg & TR § Goui B gai-1 H FHaR =R01 IR R G- @1 3R Udd eldi ¢ |
3. IR &1 U Digadt] & RiGid & 9HH ¢ |

4. ARG FIHID Y Y W U1 B! AR DT IGIR DRl ¢ |

(1)1
) 2
(3) 3
(4) 4

1[Option ID=7761]
2[Option ID=7762]
3[Option ID=7763]
4[Option ID=7764]

Sl. No.92
QBID:174092




Read the passage carefully and answer the questions.

Psychologist Carol Gilligan is best known for her innovative but controversial ideas on the moral development of
women. Gilligan emphasized what she called an "ethics of care" in women's moral reasoning. She placed her
approach in direct opposition to Lawrence Kohlberg's theory of moral development, which she claimed was
biased against females and emphasized an "ethics of justice". Gilligan argued that men were not morally superior
to women. Instead, the reason women scored lower in Kohlberg's stages than men was that Kohlberg's work
discounted the voices of women and girls. She outlined this position in detail in her seminal book In a Different
Voice which was publised in 1982. Gilligan proposed that women don't stop developing morally at lower levels
than men, but that women's moral development simply continues along a different trajectory than the ethics of
justice measured by Kohlber's scale. Feminist psychologists are divided over Gilligan's work. While some
praised it, some have criticized it for reinforcing traditional notions of femininity that could continue to lock
women into care given role.

Prafeifad T o wrauriyde U3 SR 19 R e wel & IR AR

HIA7T D B [eliv &1 Afgared & Aided [dbr & dR # I Tar-aul, i fddrerue f[4=ri & fou
dgd 331 dke 4 9T Irdl & | FIdRH A 39 91 W ad (631 b 351+ afgarsii & fadad o <aura &1
AR i (ST 31 HW) B 91d Tel | 3614 and dledd] & Alad [de Rgid & gde oy J
YT IUTTH W o, forqH 31+ aral o blgaart o1 SUNTH Aigarsil & Uid garie! ¢ SR < &l
AR R aa e g | Fieliv = aab fean [ gey Afgans 3 98 761 € | 39 qulie, Hlgdat & =0 H
o &1 da-1 H Afgelisf & [HER ¥R &1 HRUIUE ¢ [d Pigdet & o 1 Afgarsd ud dsfbdl &
faaRl TR e e fern T | I ot g 3 U e alsq H 30 eRE I 31 faaR I EuRaE
TR DI, Sl 1982 H UDIIRId g3 At | [l = uxdifdd foban fob FEaR wR U= gou| &t o1 H Afg s o1
Afdd T4 U [dp™ 11 b, dich1 Dlgaiat & Thd UR AU 741 Higdl3il b1 Afde [ A/ 31 3R
I & T 4 AN IR WRAdl U SIRI gl ¢ | ARIGIE! Ao fdiH & S & aR | [qIisid ¢ 1 $9
A D] WG B 6. Tdich P 3= - AR O Bl 34 URFRE YRUN o GIadd 1 AT D1 ol
Aledrsii oI @-HId Waldl (HaR F1aR) & U H ST ofk| 319 bl ¢ |

In Gilligan's view 'Ethics of Care' ;

A. Tend to look at morality through a lens of relationships, compassion and responsibility to others.
B. Has often been overlooked because of the limited power women have typically held in societies.
C. Principles must always be applied in the same way.

D. Morality is not based on abstract principles but on real relationships.

Choose the correct answer from the given below :

.A.Band C Only
.A,Band D Oanly
. B, C and D Only
.A.C,D Only

1) 1

(2 2

(3) 3

(4) 4

T T O




v & =Paiur & Sgyd &t Hifd -

A. 3= & Uid Hdel, BN AR Il Dl 2P Y Afddhd DI dE- Bt AR g gIdi ¢ |
B. ©1 UI: 3FcE! &I 75 i TS | Afgarsii & uiy 9y &0 ¥ Jiffd wfed el |
C. Rrsidl 1 ded GHM Rics A W [T ST 18T |

D. Afdedl 3id Rigid W el dfch aradfas ddei or anenid g |

Hid fau U fadhedi § 9 ol 3R &l 90 DIoIU :

1.$hdd A, B, C
2. ®dd A, B,D
3. %dd B.C.D
4. bdd A, C.D

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=7765]
2[Option ID=7766]
3[Option ID=7767]
4[Option ID=7768]

Sl. No.93
QBID:174093

Read the passage carefully and answer the questions.

Psychologist Carol Gilligan is best known for her innovative but controversial ideas on the moral development of
women. Gilligan emphasized what she called an "ethics of care”" in women's moral reasoning. She placed her
approach in direct opposition to Lawrence Kohlberg's theory of moral development, which she claimed was
biased against females and emphasized an "ethics of justice". Gilligan argued that men were not morally superior
to women. Instead, the reason women scored lower in Kohlberg's stages than men was that Kohlberg's work
discounted the voices of women and girls. She outlined this position in detail in her seminal book In a Different
Voice which was publised in 1982. Gilligan proposed that women don't stop developing morally at lower levels
than men, but that women's moral development simply continues along a different trajectory than the ethics of
justice measured by Kohlber's scale. Feminist psychologists are divided over Gilligan's work. While some
praised it. some have criticized it for reinforcing traditional notions of femininity that could continue to lock
women into care given role.

FafRad e &1 Waugds Ig SR e fau T usi & 3| i

glag® B RIeivH @i Afgarsi & Afde faer & aR @ 396 Ta-a, dfd faareras fd=ri & fou
qgd w1 IRg I 1 91dl § | Feliv = 39 a1 U= 9 foan [ 317 Afgansi & fada & <ayrd S
AR A (ST 31 HIWR) B d1d Tol | 364 ANy dlgddd] & Alad [dHY RGid & ude oy §
3T SUNTH U d ot forad 35 ardl o Plgaat] 1 IUrTH Afgarsii & Uid Taiie! ¢ R = &1
AR R ad & g | Fieliv = aeb fean i gey Afgansi 9 98 761 € | 39S qulie, Slgdaat & =a=0l H
TN B o A Afgarait & R R &1 $RU T8 § [ Plgaet & o § ARt vd asfeai &
faaRl TR e T fen T | I St g 34 U fehi atey H 50 eI 3t faaR ¥ w ot
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Given below are two statements :

Statement [ : The thinking of a boy and a girl participant's response to a dilemma : A man named Harish must
choose whether or not to steal medicine he cannot afford to save his wife's life.

Statement II : On the other hand, the girl participant does not believe Harish should take the medicine because it
could land him in jail for stealing, leaving his wife alone when she needs him.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT is correct
2. Both Statement I and Statement II is incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
1
(2 2
3) 3
4) 4
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1[Option ID=7769]
2[Option ID=7770]
3[Option ID=7771]
4[Option ID=7772]
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Read the passage carefully and answer the questions.

Psychologist Carol Gilligan is best known for her innovative but controversial ideas on the moral development of
women. Gilligan emphasized what she called an "ethics of care" in women's moral reasoning. She placed her
approach in direct opposition to Lawrence Kohlberg's theory of moral development, which she claimed was
biased against females and emphasized an "ethics of justice". Gilligan argued that men were not morally superior
to women. Instead, the reason women scored lower in Kohlberg's stages than men was that Kohlberg's work
discounted the voices of women and girls. She outlined this position in detail in her seminal book In a Different
Voice which was publised in 1982. Gilligan proposed that women don't stop developing morally at lower levels
than men, but that women's moral development simply continues along a different trajectory than the ethics of
justice measured by Kohlber's scale. Feminist psychologists are divided over Gilligan's work. While some
praised it, some have criticized it for reinforcing traditional notions of femininity that could continue to lock
women into care given role.

Prafeifad T o wrauriyde U3 SR 19 R e wel & IR AR

HIA7T D B [eliv &1 Afgared & Aided [dbr & dR # I Tar-aul, i fddrerue f[4=ri & fou
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Given below are two statements :

Statement I : Gilligan's view were that women's moral development continues along a different trajectory than
the ethics of justice.

Statement IT : Feminists argued that Gilligan's work makes women's voices seem homogenous, while denying
their nuance and diversity.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II is true.
2. Both Statement I and Statement II is false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.
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(2 2

(3) 3

4) 4
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3) 3
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1[Option ID=7773]
2[Option ID=7774]
3[Option ID=7775]
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Read the passage carefully and answer the questions.

Psychologist Carol Gilligan is best known for her innovative but controversial ideas on the moral development of
women. Gilligan emphasized what she called an "ethics of care” in women's moral reasoning. She placed her
approach in direct opposition to Lawrence Kohlberg's theory of moral development, which she claimed was
biased against females and emphasized an "ethics of justice". Gilligan argued that men were not morally superior
to women. Instead, the reason women scored lower in Kohlberg's stages than men was that Kohlberg's work
discounted the voices of women and girls. She outlined this position in detail in her seminal book In a Different
Voice which was publised in 1982. Gilligan proposed that women don't stop developing morally at lower levels
than men, but that women's moral development simply continues along a different trajectory than the ethics of
justice measured by Kohlber's scale. Feminist psychologists are divided over Gilligan's work. While some
praised it, some have criticized it for reinforcing traditional notions of femininity that could continue to lock
women into care given role.
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Gilligan believed that Kohlberg's theory :

1. was inherently biased against women.
2. proposed that women come to prioritize an ethics of justice?
3. men prioritize their sense of self.
4. females largely tend to focus on logic and rules.
1) 1
(2 2
(3) 3
(4) 4
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Read the passage carefully and answer the questions.

The leading Australian sociologist Raewyn Connell identifies four reasons that men might have to support
change toward a more gender-equitable society : relational interest, personal well-being, collective interest and
principle. Men's relational interest in change comes from their relationships with women and girls as wives,
mothers, daughters and friends. Secondly, living in a system of gender inequality not only damages the lives of
women and girls, but also degrades the lives of boys and men, i.e. it is not in their personal interest to live with
inequality. Thirdly, men as a group are likely to benefit from broad social and cultural changes associated with
gender equality, through less rigid stereotyping of masculinity, and more freedom to pursue their life goals free of
such stereotypes. Finally, some men might support gender equality because it follows from political or ethical
principles that are important to them. It is important to recognize that although, in general, women face greater
social and economic disadvantages; men too face vulnerabilities because of gender inequality, such as
experiencing stress from being regarded, and regarding themselves, as the main breadwinner. Stereotyping
continues to place greater emphasis, as well as greater value, on the role of men as leaders in public life, and as
breadwinners in the workplace, as opposed to women's role in unpaid home tasks, care giving and community
work.
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Uil SRETTATS FHISIRIRA! Xd- Dld T8 IR SRUM ol fHfgd Hcdl 8 o+ uRddd $- & o1t gos| !
FHAA BT TS Hebdl ¢ difc i i GHIIg e SHIS, raied fgdl, dufdis e, ijed
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Who benefits from Gender equality?

1. Women's gain automatically equate with men's losses
2. Change in gender relations can be seen as a threat to men's identity
3. Men have a lot to lose from pursuing gender equality
4. Gender (in) equality concerns both women and men and has a strong impact on their daily lives
1) 1
(2) 2
(3) 3
(4) 4
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Read the passage carefully and answer the questions.

The leading Australian sociologist Raewyn Connell identifies four reasons that men might have to support
change toward a more gender-equitable society : relational interest, personal well-being, collective interest and
principle. Men's relational interest in change comes from their relationships with women and girls as wives,
mothers, daughters and friends. Secondly, living in a system of gender inequality not only damages the lives of
women and girls, but also degrades the lives of boys and men, i.e. it is not in their personal interest to live with
inequality. Thirdly, men as a group are likely to benefit from broad social and cultural changes associated with
gender equality, through less rigid stereotyping of masculinity, and more freedom to pursue their life goals free of
such stereotypes. Finally, some men might support gender equality because it follows from political or ethical
principles that are important to them. It is important to recognize that although, in general, women face greater
social and economic disadvantages; men too face vulnerabilities because of gender inequality, such as
experiencing stress from being regarded. and regarding themselves, as the main breadwinner. Stereotyping
continues to place greater emphasis, as well as greater value, on the role of men as leaders in public life, and as
breadwinners in the workplace, as opposed to women's role in unpaid home tasks, care giving and community
work.
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According to Connell men support change because :

1. Women are related to them as wives, daughters and sisters.
2. Because men want to save women.
3. System of inequality damages women alone.
4. Men are the main bread winners.
11
(2) 2
(3) 3
4) 4
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Read the passage carefully and answer the questions.

The leading Australian sociologist Raewyn Connell identifies four reasons that men might have to support
change toward a more gender-equitable society : relational interest, personal well-being, collective interest and
principle. Men's relational interest in change comes from their relationships with women and girls as wives,
mothers, daughters and friends. Secondly, living in a system of gender inequality not only damages the lives of
women and girls, but also degrades the lives of boys and men, i.e. it is not in their personal interest to live with
inequality. Thirdly, men as a group are likely to benefit from broad social and cultural changes associated with
gender equality, through less rigid stereotyping of masculinity, and more freedom to pursue their life goals free of
such stereotypes. Finally, some men might support gender equality because it follows from political or ethical
principles that are important to them. It is important to recognize that although, in general, women face greater
social and economic disadvantages; men too face vulnerabilities because of gender inequality, such as
experiencing stress from being regarded. and regarding themselves, as the main breadwinner. Stereotyping
continues to place greater emphasis, as well as greater value, on the role of men as leaders in public life, and as
breadwinners in the workplace, as opposed to women's role in unpaid home tasks, care giving and community
work.
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Which of the following is a gender stereotype that men face?

A. Men are public leaders.

B. Men are primary child rearer.

C. Men are principal care giver at home.
D. Men are principal bread winners.

Choose the correct answer from the options given below :

. A and B Only
.B and D Only
C and D Only
.Aand D Only
1
) 2
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3) 3
(4) 4
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2. $dd B, D
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Read the passage carefully and answer the questions.

The leading Australian sociologist Raewyn Connell identifies four reasons that men might have to support
change toward a more gender-equitable society : relational interest, personal well-being, collective interest and
principle. Men's relational interest in change comes from their relationships with women and girls as wives,
mothers, daughters and friends. Secondly, living in a system of gender inequality not only damages the lives of
women and girls, but also degrades the lives of boys and men, i.e. it is not in their personal interest to live with
inequality. Thirdly, men as a group are likely to benefit from broad social and cultural changes associated with
gender equality, through less rigid stereotyping of masculinity, and more freedom to pursue their life goals free of
such stereotypes. Finally, some men might support gender equality because it follows from political or ethical
principles that are important to them. It is important to recognize that although, in general, women face greater
social and economic disadvantages; men too face vulnerabilities because of gender inequality, such as
experiencing stress from being regarded. and regarding themselves, as the main breadwinner. Stereotyping
continues to place greater emphasis, as well as greater value, on the role of men as leaders in public life, and as
breadwinners in the workplace, as opposed to women's role in unpaid home tasks, care giving and community
work.
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What is the role of men in gender equality ?

A. Men are essential enabler for gender reform.

B. Men are afraid that empowering girls will come at the expense of boys.

C. Changing or altering traditional masculinity should be more widely recognized as an important step towards
realizing gender equality.

D. Men do not face gender stereotyping.

Choose the correct answer from the options given below :

1. A and B Only
2. Aand C Only
3. B and D Only
4. A and D Only
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(3) 3
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Read the passage carefully and answer the questions.

The leading Australian sociologist Raewyn Connell identifies four reasons that men might have to support
change toward a more gender-equitable society : relational interest, personal well-being, collective interest and
principle. Men's relational interest in change comes from their relationships with women and girls as wives,
mothers, daughters and friends. Secondly, living in a system of gender inequality not only damages the lives of
women and girls, but also degrades the lives of boys and men, i.e. it is not in their personal interest to live with
inequality. Thirdly, men as a group are likely to benefit from broad social and cultural changes associated with
gender equality, through less rigid stereotyping of masculinity, and more freedom to pursue their life goals free of
such stereotypes. Finally, some men might support gender equality because it follows from political or ethical
principles that are important to them. It is important to recognize that although, in general, women face greater
social and economic disadvantages; men too face vulnerabilities because of gender inequality, such as
experiencing stress from being regarded. and regarding themselves, as the main breadwinner. Stereotyping
continues to place greater emphasis, as well as greater value, on the role of men as leaders in public life, and as
breadwinners in the workplace, as opposed to women's role in unpaid home tasks, care giving and community
work.

= 3T 71T eI & eHgdS Ue R e iU e v & S|

3uil SRETCTATS FHIGTRIG] ¥a B I-d U IR SRUN & fafgd @l ¢ [oTH URad @3 & [t gos| &
FHYA BT IS Fobdl ¢ dlih D il FHFA FHIS, FraeTdHD fgdl, dufdid D), 9iifed
fed SR Rsid i fou o g | uRkad # qoni & Greldrd S, Udl, Ard, G ok f/E & S H
Afgasil 3R TSidl & 91 I Grael I 3MTal § | GO, Wi Al & [ed H g4 I 9 dhad
afearst ok afaal & e &1 afd ggadt & fch T8 dSdi 3R Goul &1 oilad fadpd et g i
YU &b HIY Y1 3h qafckis fgd 0 -Tgl ¢ | AR, oA Bl HER Bledgdl 8 HHI dldhR 3R Lt
Sfeasarsi I Had 39d sila- dedl Bl Ui B H D [aAd G dild JHHdl I Sg AUD
HHISP 3R G idd URad-l ¥ GHE & Y H SN Bl (&P arH U gi- o1 GHIGAT ¢ | 3fd H, To
g o i GHIT D1 JHLA 3T B Hohd & Hifh Ig U Aol-iided R Afdd Rigidl d IgHd gidi &
il 31h felt Hed Ui Gid © | U8 WibR S Heedyul ¢ fob Terftl, siAdR uR Afgersfl &1 iy TS
AR 3 yiddd URRUTTT T JEHT HRAT1USdl § | URg Yoyl &l i i Sraa =1, oY Sffoifde]
HHT Tl FHS ST AT TG b TSifdebT HHT dTell A I g dTel dH1d & BRUN SYRA BT JIHA]
FRAI TSl & | Eledgdl, GrHISE Sifad J Jdl & ¥ H 3R SRR TR 3HSildH] HHH ald & &9
i T YaM A1 SRI Gl g Safd 39 [quid Afgeall & fddid 9e HIf, SH TG 3R
TR B IR & [GaI Sl g |

According to Connell gender inequitable societies :

A. Damage lives of mothers and daughters.

B. Damage lives of boys and men.

C. Do not impact men as they are not vulnerable to inequalities.
D. Only women are adversely impacted.

Choose the correct answer from the options given below :

1. AandB Only
2. B and C Only
3, A and C Only
4, Aand D Only

1) 1

(2) 2

(3) 3

(4) 4




PI-d b HTHR il =P I S GHF A -

A, HIC13H SR afedl & Siiad $1 HUH Uged ¢ |

B. A8®! 3R GOl & oilad &I 69 Jgaid g |
C. TH9 TR T3 UG 8 STad € TP I8 SRTHHAT I DS SRRal T8l e 2 |

D. bad Higdlsl W Yiddd UHIE USdl & |

il faU 7Y fdp el H 9 9ad Iuged IR &1 = DIfT -

1. Hdd A B
2. Hdd B, C
3. Hdd A, C
4. HAAA. D

1) 1

2) 2

(3) 3

4) 4

1[Option ID=7797]

2[Option ID=7798]

3[Option ID=7799]
4[Option ID=7800]

Sl. No.101
QBID:3201001

The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer

the question :

City-wise Distribution of Employees in Banks

SBI

PNB

UCO

BOB

10B

UBI

M| F

M| F

M| F

M| F

M| F

M| F

553 | 224

673|116

443 | 500

154

256 | 235

356 | 357

234 1456

346|236

366

345

285

256 | 166

346 | 287

457 | 388

346|436

124 | 456

235

5741599

589 | 190

114 | 378

124|235

235 [ 388

175

324|198

189 | 256

734 120

241136

350 234

165

124 1334

155

181

325

348|174

399 [ 439

234

125]235

278 ] 192

:ﬂ%[?ﬁﬂ%aﬁlaﬂfr YRA & B¢ AeXl A-F H RYd §8 APIHd sl TaTang, fioe, q\?ﬁ
TS aATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! a1 UG IRId &1 175 ¢ | difce] aiai|m\5|$
TR TR U DI IR ST -

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The ratio of the number of females to the number of males in City-E working in SBI, UCO and IOB together is :

1,173 ;
2.173;
* A2
4.172:

1) 1
) 2

173
177
177
FES




3) 3
(4) 4

QIER E 1 THEI3TS, Yol 3R TS 3la] H GHY SRR Algarail & ST SR YEN] ] Y-AT T SUId 1 ¢ 2

1.173 7175
20 [ 4 T DT
3 172 =177
417221705

(1)1

) 2

(3) 3

(4) 4

1[Option ID=8601]
2[Option ID=8602]
3[Option ID=8603]
4[Option ID=8604]

Sl. No.102
QBID:3201002

The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table. answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|M|F|IM|F|M|FE
A | 553 224|673 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457 | 388346456 124 [456| 235235574 [ 599 589 | 190
D 114 |378(124)235| 235 | 388|255 |175]324 | 198 ] 189 | 236
E | 234 [120]241 156|350 [234| 124 [165] 124 [ 334 155 | 181
F 353 |325|348]174|399 1439|358 ]234]125]|235] 278 | 192

=i &1 775, AIferepT H HIRA & B8 QeI A-F H YT B¢ PP dobl, TS, UTTel, Zbl, dlafsl,
TSI 3R Fallang H HRRA Yoyl (M) 3R HIgaTsil (F)d! a1 UalRid &1 115 ¢ | dilde! & sfidsi &
SR IR U & It alfolg :

dp! H HHANTT BT Ug-aR faao

EEg adtens | dioadt | gt | deiet | omseidt | getems

RiGRS l M F M F M F M F M F M F

A 353 224 673 |116 443 500 |334 |434 |256 233 |536 |337
B 254 436 346 236 (366 (345 478 |285 ||256 166 (346 ||287
C 457 388 346 436 (124 |4536 |235 (235 |374 399 (389 (190
D 114 378 124 235 235 (388 235 |175 |[324 198 189 ||236
E 234 120 241 136 350 234 124 J1e3 |124 334 155 |181
F 353 325 348 174 399 439 358 |234 25 (235 278 (192

The approximate percentage of the number of females with respect to the number of males across all the banks
together in City-B is:

1. 88%
2.98%
3.78%
4. 86%

1) 1

) 2

(3) 3

(4) 4




Qe B H Yol 41 1 Aeiiepr HrdRd afgarsii &1 e Youi @1 S o1 TRTHAT fdbd1 Uia=id ¢ 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8605]
2[Option ID=8606]

3[Option ID=8607]
4[Option ID=8608]

Sl. No.103
QBID:3201003

The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table. answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNE Uco BOB 10B UBI

Cit_vl M|FIM|FIM|F|IM|FIM|F|M|E
A | 553 |224| 673|116 443 | 500 | 534 | 454] 256 | 235 | 556 | 357
B | 254 [456|346|256] 366 [ 345|478 [285] 256 | 166 | 346 | 287
C | 457 |388|346|456] 124 [456| 235|235 574 [399] 589 | 190
D 114 |378[124]235| 235|388 | 255175324 | 198 | 189 | 256
E |234 [120]241]|156] 350 (234|124 |165]124 [334] 153 | 181
F 353 [325|348|174| 399 | 439|358 234125 |235] 278 | 192

< 1 a1g drferept H YR & B8 el A-F H YT 8¢ UPPd dobl, Toalafs, digdl, g, disfdl,
TS 3le! SR gaitaiTg B SRR Yoo (M) SR Gfgarsdl (F)s! e UeiRid &1 71g g | difcd] & sfibel &
MR TR YY BT IR Sl :

Sabi H HHATT BT WUE-aR fad T

a5 Taaters | dieaet L cal dtofet | omseidt | gemd
%?l M F M [F M [F M [F M [F |M [F
A 553 224 673 Juie [443 [500 534 454 [2s6 |35 536 |357
B 254|456 [346 [256 [366 [345 [478 285 [236 |16 346 |287
C 457|388 346 [456 [124 [ase [235 235 574 [599 589 [190
D 114 378 [124 235 [235 [388 [255 [175 [324 198 189 256
E 234 120 [241 [i56 [350 [234 124 Jues [124 334 155 [is1
F 353 325 |34 [174 J399 [439 358 234 [125 |35 |278 182
The number of females working in UCO from City-A is approximately % more than the number of

females working in PNB from the same city.

1. 278%
2. 182%
3. 180%
4.331%

(1)1

(2) 2

(3) 3

(4) 4




X A H Tl § H BrRd Afgarsil ot G 34 2eR § Uied! § brid Higds ol S8 8 T
fare Tfr=Id 3ifees §

1. 278%
2. 182%
3. 180%
4.331%

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8609]
2[Option ID=8610]
3[Option ID=8611]
4[Option ID=8612]

Sl. No.104
QBID:3201004

The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cir_vl M|FIM|FIM|F|M|FIM|F|M|E
A ] 553 |224| 673|116 443 | 500 | 534 | 454] 256 | 235 | 556 | 357
B | 254 [456 346|256 366 [ 345|478 [285] 256 | 166 | 346 | 287
C | 457 |388|346|456] 124 [456| 235|235 574 [ 599 585 | 190
D 114 |378[124]235| 235 | 388 | 255175324 | 198 | 189 | 256
E |234 [120]241]|156] 350 [234 | 124 | 165] 124 [ 334 155 | 181
F 353 |325|348]174|399 1439|358 ]234]125]|235] 278 ] 192

= & TS IfereT T YRT & WE TERT A-F T R B¢ AFTaPHd dobi, ghetes, ieTs, 7T, deid,
TS 3NeT SR FaitdTg H HRRd GouT (M) 3R Afgarsil (F)d! T UaiRid &1 175 ¢ | difcid] & 3fids &
SR IR U T IR alfole ;

dp! A HHATRTT BT Ug-aR faa=o

¥F Taatems | dieaat L cal dtoft | omseidt | gtems
ml M |F M [F M [F IM [F M [F [m |[F
A 553|224 |673 116 |#43 [500 [534 [454 [236 |[235 |536 |357
B 254 [456 |346 256 |366 [345 [478 [285 [236 166 |346 |287
C 457 B8 346 |436 (124 436 (235 (235 574 599 589 (190
D 114 [378 124 [235 235 388 [255 [175 |324 [198 189 |236
E 234|120 [241 [156 350 [234 [124 165 |124 334 135 |18l
F 353 [325 [348 174 [399 [439 [358 [234 [125 |[235 |278 192

The total number of females working across all the six cities together is more than 1700 in:

L. all the six banks
2. exactly three banks
3. exactly four banks
4. exactly two banks
1
(2 2
(3) 3
(4) 4




gt o8 e & Frika Afgarel & Se Fufaiad 7 9 feaw 1700 9 319w g 2

1. 9 Sg dbI A
2. 3Bid dF sai |
3. 3lh AR dPhl |
4. Bl@ al dpl H

1) 1

2) 2

3) 3

) 4

1[Option ID=8613]

2[Option ID=8614]

3[Option ID=8615]
4[Option ID=8616]

Sl. No.105
QBID:3201005

The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNE UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|IM|FIM|F|M|E
A | 553 |224| 673|116 443 | 500 | 534 | 454|256 | 235 ] 556 | 357
B | 254 |456|346|256] 366 [345|478 [285] 256 | 166 | 346 | 287
C | 457 |388|346|456] 124 [456 | 235|235 574 [ 399 589 | 190
D 114 |378[124]235| 235 | 388 | 255175324 | 198 | 185 | 256
E |234 [120]241]|156]350 [ 234|124 | 165|124 [334] 155 | 181
F 353 [325|348|174| 399 | 439|358 234125 |235] 278 | 192

9 1718 drferept H YR & B8 el A-F H YA 9 PP dobl. goatefs, diu-dl, gl disfdl,
AT 3TeT 3R FaitdTg B HRRd GouT (M) 3R Bfgarsil (F)a! T UeiRid ©1 175 g | difcs] & 3fidel &
3MYR TR UY DI IR SforT -

dp! A HHATRTT BT Ug-aR [z

¥F Taatems | dieaat Ecal dtofet | omseidt | wtems
W%?l M |F M [F M [F IM [F M [ [M |[F
A 553|224 673 |116 |43 [500 [534 [45% [236 |[235 |536 |357
B 254 [456 346 |256 |366 |345 [478 [285 [236 166 |336 |287
C 457 [388 346 [456 [124 [456 [235 [235 |574 [599 |589 [190
D 114 [378 124 [235 |235 |38 [255 [175 [324 [198 189 |36
E 234 120 241 136 350 234 (124 [165 |124 334 135|181
F 353 [325 |348 174 399 [439 [358 [234 |125 235 |278 192

The difference between the number of males working across all the six banks together in City-C and the number
of males working across all the six banks together in City-D is:

1. 1022
2. 1214
3.1198
4. 1084

1

) 2

(3) 3

4 4




QEX C & YHI ©¢ dobi H IR Gl &1 HBJA1 3R U D & GHI B8 dpi H SRR Joui H1 Tl & dl<
BT SR fBa g 2

. 1022
. 1214
. 1198
. 1084
(1) 1
(2) 2
(3) 3
(4) 4

S R S

.

1[Option ID=8617]
2[Option ID=8618]
3[Option ID=8619]
4[Option ID=8620]

Sl. No.106
QBID:3201006

Both students and teachers work harder and persist longer when they have a high sense efficacy. Which of the
following does not enhance self-efficacy in both students and teachers?

1. Day to day success in achieving tasks

. Formal school relationships that focus solely on skills
. Assistance from more knowledgeable partners

4. High expectations from those in the environment

1) 1

(2 2

(3) 3

(4) 4

faemdf 3R 1 a9 3ifU® HER IeM Td § 2R Td 7T dd S 35d ¢ 9d 36 YHAIdeHdl &1 3=
qle gl g | FafeRad # 9 fqafial ok Rieep! <l # W-yHaiaresd H gl T8 e g 2

1. BRAHR Y1 D H i goheid
2. HIE HINd R bisid SRS Gy dde

3. e JHIHE YUl I erdr
4. RO H G Y (AU 3[Uey
o 2
(3) 3
(4) 4

2
3

1[Option ID=8621]
2[Option ID=8622]
3[Option ID=8623]
4[Option ID=8624]

Sl. No.107
QBID:3201007

Direct instruction is most suited when teachers:

1. teach basic skills
2. have their students explore pathways to solve a mathematics problems
3. encourage their students to refine their creativity in art
4. assign critical thinking exercises
1) 1
() 2
3) 3
(4) 4




Y& 3G Hdiltih Sugerd gidl ¢ oid A& -

1. gfard) 1ere 3T R ed g 1

2. 31U faeniefar 9§ v STl g H & IRG| B Y0 BRI § |

3. U+ faeniel &1 el # IAD] FoAidADdl & URDR & el UieHIfgd Hid & |
4. AT fa9RU 119 Fiud ¢ |

o 2

(3) 3

4) 4

1[Option ID=8625]
2[Option ID=8626]
3[Option ID=8627]
4[Option ID=8628]

Sl. No.108
QBID:3201008

Match List I with List IT

LIST I (learning style) LIST II (Learning characteristics)
Concrete experience and reflective
observation

Concrete experience and active

A |Converger 14

B. Diverger 11

experimentation
3 i |Abstract conceptualization and Active
C. |Assimilator 111 i r 8
experimentation
- |Abstract conceptualization and reflective)
D. |Accommodator IvV. p

observation

Choose the correct answer from the options given below:

1. A-III, B-1V, C-II, D-1
2. A-II, B-1, C-1V, D-II
3. A-1V, B-1, C-1I, D-IIT
4. A-1V, B-1. C-1IL, D-II

1) 1
(2) 2
3) 3
(4) 4
a1 11 Yl 1 9 e Sifen
T 1 (AT T T 10 (ST AT UG
A |fHERS L %ﬁm&mﬁ -
HIOR® I [31 34T AR Tishd TR
; S UOTHR 3R
C. [gHIETS III. ﬂ%amfm
D. |[gHEE® V. &mﬁﬁfﬂiﬁfwail oMR

frgfafad fasedl & O 98l ST &1 904 SIfu -

1. A-II, B-1V, C-II, D-1
2. A-1II, B-1. C-IV, D-1I
3. A-IV. B-1. C-II. D-III
4. A-IV, B-1, C-III, D-III

(1) 1

) 2

(3) 3

(4) 4

1[Option ID=8629]

2[Option ID=8630]

3[Option ID=8631]
4[Option ID=8632]




Sl. No.109
QBID:3201009

Match List I with List IT

LIST I (Type of memory) LIST II (Meaning)
: Memory of remembering the route to
A, |Semantic L At i =
drive home
Memory that contributes to vour
B. [Episodic II. |sense of self. vour own history or
identity
C. JAutobiographical III. [Memory of General knowledge
Sl v Memory of life e\'_enrs that happened
to vou or around vou

Choose the correct answer from the options given below:

1. A-III, B-1V, C-11, D-1
2. A-I1, B-1V, C-111, D-1
3. A-III, B-1I, C-1IV, D-1
4. A-1I1. B-1, C-II, D-IV

1) 1
2) 2
3) 3
(4) 4
Gl 11 g=l 1 9 fAar Sifse
e 1 (Fid T TPR) T 11 (3%
A ki ¢ gmﬁcqfﬁmnﬁwaﬂﬁaﬁ
g Ffd =1 AT Shd @, AHTd
B. [SUBIHES I |HUH (e 3udl UgaH & a1y |
TrTe Bl &
C. [srEmuE® Il [ 9E &1 S
. |S1TOts Ty 31YET HTUd HEUH
D. [ . - geAr & |

frofafad fasedl & 9 98l SR &1 994 Sifu -

1. A-IIT, B-1V, C-I1, D-I
2. A-TI, B-IV, C-1II, D-1
3. A-IIT, B-II, C-IV, D-I
4. A-II1, B-1, C-II. D-IV

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=8633]

2[Option ID=8634]

3[Option ID=8635]
4[Option ID=8636]

Sl. No.110
QBID:3201010

If you want to assess the students performance and want to give them immediate feedback, which software will
you select?

1. Kahoot
2. Animaker
3. Plotagon
4. Powtoon

11

(2) 2

(3) 3

4) 4




gfe 31 faefal & S Y= &1 Jedih 1 dlgd & 3R 3= dabld Uiy ¢A1died 8. of o g o
3 frg Qi dmR &1 g1 2

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8637]
2[Option ID=8638]

3[Option ID=8639]
4[Option ID=8640]

Sl. No.111
QBID:3201011

Arrange the following research components in correct sequence:

A. Preparing a research plan

B. Collecting Data

C. Drawing conclusion

D. Formulating a research question/objectives
E. Analyzing data

Choose the correct answer from the options given below:

1.AD.B.E.C
2.D,A.B.E,C
3.B,D,A,C,E
4, A,B,D,C.E
(1) 1
(2) 2
(3) 3
(4) 4

aiaRad =iy Yeed! & Ug! AIHH H gaRyd HIIT;
A. RIT¢ TISHET TR B3]

B. i s Uhd HIl

C. e fAare

D. Y UH/35 24l BT (A=Y

E. 3ib sl Pl [d2dyur

1< fau Y fa el H ¥ T8 Iugdd IR b1 99 DIfT:

1.AD,B,E,C
2.0, A,B.E. €
3.B.D,A,C.E
4 A,B,D,C.E

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8641]
2[Option ID=8642]
3[Option ID=8643]
4[Option ID=8644]

Sl. No.112
QBID:3201012




In a data set any extreme value, either very large or very small, compared to the rest of the data, is said to be:

. Exceedance
. Outlier

. Extreme

. Outsider
1) 1

(2) 2

3) 3

4) 4

U 3ol & =4 H [l 3 U Bl ol AY Hidbs| &I da-l H I1 dl 9gd dodl dgd DIcT 6, bedldl o
|

W I =

=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8645]
2[Option ID=8646]

3[Option ID=8647]
4[Option ID=8648]

Sl. No.113
QBID:3201013

In online surveys, which of the following are sampling issues ?

A. People in a household may use the same computer, as they have access to only one.
B. Many respondents may have multiple email IDS.

C. Internet users constitute a biased sample of the population

D. Sampling frames for online surveys are cheap.

E. The governments restrict online surveys.

Choose the most appropriate answer from the options given below :

1. A, Band C only
2.B, C and D only
3.C,D and E only
4. A, Cand D only

1) 1

() 2

(3) 3

(4) 4




HIarg Fdeon # FyfaRad # 9 SH-911 9 Uld=u- 48 ¢ 7

A. Tod! T TR & @1 U gl LR b1 WaRT 6d gi lifds 3 I HIF Ub gl HheR © |
B. 3% ITRaldIsl @I dglid sHd Ugd (ID) Bl Uil ¢ |

C. $XIC YAIadT S1ERaT b1 Ueh Ydiug! Uide=igld © |

D. HITeATZ" Hd&ull P T ufd=- hH 9xi § |

E. PR A3 A&l &I Wideied ddl g |

il faU 7Y fdpedl H I 9ad Iugdd IR &I 94 DI

1.HAd A, B. C

1[Option ID=8649]
2[Option ID=8650]
3[Option ID=8651]
4[Option ID=8652]

Sl. No.114
QBID:3201014

Mean of a data set is equivalent to:

1. First quartile of that data
2. Second quartile of that data
3. Third quartile of that data
4. Interquartile range of that data
1) 1
() 2
(3) 3
(4) 4

el U sfiheT GH=9d 1 {1 Y | U fhyd TaF g 2

1. 39 s BT yH agdid

2. 39 Hibsl Bl fgdid gl
3. 39 Hibsl BI gl Iqdd

4. 3K bl bl 3fd: gadd R
1) 1

(2) 2

(3) 3

4) 4

1[Option ID=8653]
2[Option ID=8654]
3[Option ID=8655]
4[Option ID=8656]

SI. No.115
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Given below are two statements:

Statement I: Like correlation, statistical regression examines the association or relationship between variables.

Statement II: The primary purpose of regression is prediction.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement T and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I is incorrect but Statement II is correct.
1) 1

2) 2

3) 3

) 4

fH APy RUU S

TYA 1 : Yoguae P Hifd, TiRSTHTT THIYTO <=1 & Tgad 3Ual 3d sid & Jaeif i Sfid 1 g |
DY I : FHIHTU] BT WD 339 YN 6 |

IWRIad HYA & 3fdiep |, Fd fau MU [dwedi # Ul IR &1 98- Hifore:

1. FUTIR I SHI Tal § |
2. FYF IR I SHI A § |
3. HYF 1 el 6, AP FUA I ITAd & |
4. YT 170d g, AfbT AT I TR § |

1) 1
) 2
3) 3
(4) 4

LS I S I

&=

1[Option ID=8657]
2[Option ID=8658]
3[Option ID=8659]
4[Option ID=8660]
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In governance, communication is normally used as a means of:

1. Gender division
2. Preserving power
3. Encouraging illegal actions
4. Alienating the masses
1
(2 2
(3) 3
(4) 4

QTG H, HUNUT &1 SR SRl 9 J 9 59 & 919 & © 9§ [Ha1 Sar g 2

B GUACEISE

PRIRICARE |

3. 3{dY BRI B UicTed DAl
4. SdT D1 faHd BT

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=8661]
2[Option ID=8662]
3[Option ID=8663]
4[Option ID=8664]
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A good part of communication in human society is through:

1. Para language
2. Infographics
3. Formal language
4. Hidden emotions
1
(2 2
(3) 3
(4) 4

HAHd THS H HUY0 &1 U Jol e MY d 9 fh9 b A Y gidi 6 2

1. YRTHMYT

2. G - 3T (SBIThad)
3. SO HINT
4. U=5e HId

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8665]

2[Option ID=8666]

3[Option ID=8667]
4[Option ID=8668]

Sl. No.118
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Which of the following elements involving social positions are determinants of communication from the eastern
perspectives?

A. Absence of leadership

B. Ego-centric individualism
C.Role

D. Status

E. Power

Choose the correct answer from the options given below:

1. A, Band C only
2.B, Cand D only
3.A, CandE only
4.C.D and E only

1

(2 2

(3) 3

(4) 4




gdf aRvied I i Uel &l Siasiddi did i+ 9 fHdifdd dad GUy & ek g 2
A. FJcd BT 3HId

B. 3gH hi-id Aliare

C. HfH®T

D. efigd

E. 2l

4 fAu T fahegl § 9 gl SR &1 98 Hifu :

1.$hdd A, B, C
2. ®dd B, C,D
3.hdd A, C.E
4.%dd C, D, E

(1)1
(2) 2
3) 3
(4) 4
1[Option ID=8669]
2[Option ID=8670]

3[Option ID=8671]
4[Option ID=8672]

Sl. No.119
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Given below are two statements:

Statement I : The linear model of communication is used for generating intentional results.

Statement II : The linear model of communication was the basis of propaganda during the World War II.
In the light of the above statements. choose the correct answer from the options given below:

. Both Statement I and Statement IT are true
. Both Statement I and Statement IT are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true
1) 1
(2) 2
(3) 3
4 4

BIEKAEAIC A 1

DY 1 : YUNUT b SAG HISA DI TR ST IR0 [HebTa- o fe1e fhar Sirar g |
DY 11 : YUY b1 1Y Hisd fgdia 9% g & SR 3119 U=R &1 3R o7 |
S BYF &b 3Mcld H, i fT T fdb el # Tel TR BT 98 Piforg:

1. FUFISR A TG |

2. U IR I GH A § |

3. FUTITA G, AP YT 3T ¢ |
4. FYFI 3T 8, dibd YT M I ¢ |

(1) 1
) 2

L I o B

d=




3) 3
4) 4

1[Option ID=8673]
2[Option ID=8674]
3[Option ID=8675]
4[Option ID=8676]
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Given below are two statements:
Statement I : Coercive communication is ethical, powerful and result-oriented.

Statement II : In international power politics, unethical propagandist communication promotes national prestige
and security.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

11

(2) 2

(3) 3

) 4

TR A FART T E:
DY 1 : U GUYUT Afde, F2rad 3R gRUTHFdl gidrg |
DY 11 : SHTRAPIY T Ao H SATTD SATYTIRATE FU0T AT HANT 3R GR&T DI 9161 ol 6|

IURIFd HUA P 3fTclld H, i fGT MU [dhedi # TGl IR D1 I8 DIfOIT:

1. HYTI RIS I &
2. HYTI AR I SH e &
3. HYTIII g, dfbd HYA I AT ©
4. PYTI A ¢, AP YT I T ©
1) 1
2) 2
(3) 3
(4) 4
1[Option ID=8677]
2[Option ID=8678]

3[Option ID=8679]
4[Option ID=8680]
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Find the next term in the series given below:
o815, 1357

.18

i

ad [mD

B 7
(1)1
(2) 2
(3) 3
(4) 4

.




11 &Y 778 Y@l H BRIl Ug J1d BIIT:

-7,-5,-1,5,13,7?

L I

I

7

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=8681]
2[Option ID=8682]

3[Option ID=8683]
4[Option ID=8684]
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N men can complete a job in 12 days. The same job can be completed by (N+6) men in 8 days. Find the value of
N

11

L b =

.

212
(1
(2 2
(3) 3
4 4

N e febdl b i 12 oAl H qrI R "ebdl ¢ | Il 1 1 (N+6) oalerrall gRT 8 ol H YR favan i epell
© | N T HIF J1d SIS

11

S S

.

12

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8685]
2[Option ID=8686]

3[Option ID=8687]
4[Option ID=8688]

Sl. No.123
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A beggar has Rs. 15 comprising of 50 coins of 25 paisa and 50 paisa. How many 25 paisa and 50 paisa coins are
there with the beggar respectively?

.40, 10
. 30,20
35,15
.36, 14
(1) 1
(2) 2
3) 3
(4) 4

L

.




U TR & Ui 25 U9 3R 50 T & 50 [gdi ®i [HaHR 15 390 g | FFRIRT & 919 A 25 U9 3R 50
T & fpaa fRads ¢ -

.40, 10
. 30,20
.35 15
.36, 14
(1)1
) 2
3) 3
(4) 4

S R S

B

1[Option ID=8689]
2[Option ID=8690]
3[Option ID=8691]
4[Option ID=8692]
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If the price of sugar increases by 25%, determine the percentage by which its consumption be reduced so as not
to increase the expenditure on it?

=l B =

.

VSIS
=]

)

(1)1
) 2
(3) 3
(4) 4

i =i 1 ged 25% d¢ SIdl 6, dl 39D SUHNT H {bd- Hid=Id S HHI DI O o 39 Wy H df 7
al

25%
30%
207
. 35%
1 1
) 2
(3) 3
(4) 4

L S R

B

1[Option ID=8693]
2[Option ID=8694]
3[Option ID=8695]
4[Option ID=8696]
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A lady while going to her college in a car drove 20 kms towards north and then 15 kms towards west. She then
turned to the south and covered 10 kms. Further she turned to the east and moved 12 kms. Finally she turned
right and drove 10 kms. How far and in which direction is the lady from her starting point ?

1. 5 km, South
2. 5 kim West
3. 3 km, West
4. 3 km, North

1) 1

(2 2

(3) 3

4) 4




Uh Afgdl 39 Diciol oild IHY IR P 31R 20 fbHt 3R R 15 fHH gfyq &Y 3R $R gardi g | 9g
GI&0T T SR Hdl § 3R 10 fhel ®1 g qU Bl & | S 98 Ud DI 3R A1 ¢ IR 12 [hH Iadi g |
Wzﬂ;&@ﬁ@?ﬁ@?ﬂ%aﬁmoﬁﬁwaﬂﬁ% | HISET 3UT RIS (95 I fdal g SR [y
feamd g o

.5 Topul, <l
.5 et ufem
.3 Tl ulgm
3 el 3R

(1) 1
(2) 2
(3) 3
(4) 4

L R S R

.

1[Option ID=8697]
2[Option ID=8698]
3[Option ID=8699]
4[Option ID=8700]

Sl. No.126
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"Environmentalists are continually harping about the dangers of nuclear power. Unfortunately, electricity is
dangerous no matter where it comes from. Every year hundreds of people are electrocuted by accident. Since
most of these accidents are caused by carelessness they could be avoided if people would just exercise greater
caution." Which fallacy is committed in the above argument?

. Red Herring

. Slippery Sope

. Strawman

. Hasty Generalization
(1

(2 2

(3) 3

(4) 4

"IgiaRuIfdE AT 39l & Tarl & aR A FRAR a1d R 3¢ ¢ | gHigav, fdegd Wdwrs ¢, 9re ag fadl
Hl Hid 9 U gidl 81 | U oy dobs| divT [dggd 3drd &l gHel & IR id ¢ | 374 9 SHfebig

G SYTaY & HRUMFfed gIdl & . 31 ge-T1adl Dl Akl ol ebdl ¢ Afe AT e Frae-t axd- i
SRIFd HYTH B - T ddb alv g ?

1. 38 gl _
2. haagad el (Rl i)
3. UMYl () b &N
4. ffa=Tid ARSI
1) 1
() 2
(3) 3
4) 4

ST N

1[Option ID=8701]
2[Option ID=8702]
3[Option ID=8703]
4[Option ID=8704]
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Which of the following statement is logically equivalent to "No birds are mammals"?

1. Some birds are not mammals.
2. Some non-birds are mammals.
3. No mammals are birds.
4. All non-birds are mammals.
11
() 2




3) 3
(4) 4

FafRad H 9 &IF-91 By "dis Uall TAURI gl 6" U dlihd U 4 GAJeH g 2

1. 5% vl W T € |
2. 3 TR-Uel TR ¢ |
3. Pls THYRI Tef 81 § |
4. g TR-Ual TAUR |

1)1
) 2
(3) 3
(4) 4

1[Option ID=8705]
2[Option ID=8706]
3[Option ID=8707]
4[Option ID=8708]
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Which of the following is contrary to the statement "No mammals are birds"?

1. No birds are mammals.

2. Some mammals are birds.
3. All mammals are birds.

. Some birds are mammals.
11

(2) 2

(3) 3

4 4

"opIg ST velt e o By O Fafafad § 9 o fauda g

1. DTS gaf T TS ¢ |
2. O WAYRIUei g |

3. 9 YR Uel § |
4. 9 Ul WA T |
&

(3) 3

4) 4

d=

1[Option ID=8709]
2[Option ID=8710]
3[Option ID=8711]
4[Option ID=8712]
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If the statement "Some animals are birds" is given as false then which of the following statements can be
immediately inferred to be false?

1. Some birds fly.
2. Some animals are not birds.
3. No animals are birds.
4. All animals are birds.
11
(2) 2
(3) 3
4 4




e HUF "He SR U&H g 3 & w4 1 [¢a1 741 8 | dd FHfiRdd BI-81 Y dicblicid ©4 ¥ 3y
& &0 H AT fa1 o i g 2

1. PB Ui 3sd g |
2. g of-IaR Yajl 7gi g
3. PIg S Y&l ol g |
4. 9y SFAR U T |

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8713]

2[Option ID=8714]

3[Option ID=8715]
4[Option ID=8716]
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Given below are two statements:
Statement I: According to Classical Indian School of logic (Nyaya) one can infer for oneself.

Statement II: According to Nyaya school inferring for oneself is a psychological process and does not require the
formal statement of the different members of a syllogism.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
(3) 3
4 4

BIERACAIC AR U
DY I: T (1) & HRAI ARG Ad b 3UR WL & (e1g Hi 3T fohar ot ghar g |

DY 11 : TR HA & AR W & [ SHIA T Ub AT WidhaT ¢ SR Uraie & (4 @Rl &
HIPIRD HYU DI GGl el gldl ¢ |

JWRIGd HY & 3Tdid |, A faU MU g el # gad I9gad IR DI 99 Difog ;

1. HYT IR I SH 98l § |
2. HYT IR M EH Tad g |
3. YT RN €. Al PUT TG E |
4. HYT 1A g, dich- YT 11 el g |
1) 1
) 2
(3) 3
4) 4

1[Option ID=8717]
2[Option ID=8718]
3[Option ID=8719]
4[Option ID=8720]
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is a set of rules that must be obeyed when transferring files across the Internet.

1. HTML
2. URL
3.HTTP
. ISP

1) 1

(2) 2

3) 3

(4) 4

el &1 U qg= g forgeh] e IR higdl & RIMH-R H fHardd: ure a1 S =1fgu |

B

1. @A
2.9 3R Td
3w ddl
4. 3 ug di

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=8721]
2[Option ID=8722]

3[Option ID=8723]
4[Option ID=8724]
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The action of sending emails to fraudulently obtain another person's bank details is called:

1. Phishing
2. Pharming
3. Spamming
4. Smishing

1

2) 2

(3 3

(4) 4

fordl 3= afekd & dob-Hafid faarull & HYCYde U B g SHd ol DI B H hgdldl 6 ?

1. TopfRiT

WIfET

f
4. feafa

1) 1

2) 2

(3) 3

4) 4

[V O]

1[Option ID=8725]
2[Option ID=8726]
3[Option ID=8727]
4[Option ID=8728]
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Which of the following are the advantages in using Solid State Drives (SSDs) rather than Hard Disk Drives
(HDDs) in Laptop computers?

A. SSD is much lighter than HDD.
B. SSD has a lower power consumption than HDD.
C. SSDs are thick compared to HDDs due to no moving parts.

Choose the correct answer from the options given below:

. A and B only
. Aand C only
.Band C only
.A,Band C
(1

(2 2

(3) 3

(4) 4

dUeTy HHYCR H gIS S $I9d (HDDs) i 3U&T Wildls I S15d (SSDs) & YINT & afeiad &1 -3
AHE 2

A. HDD®! 3{U&T SSD e/ geab! gicll § |
B. HDD®! U SSD H & fdggd Wud gldl g |
C. HDDs @1 ga-I1¥ SSDs HI! Glil & dlids 39 Pig TaHI- HRT -Tg! YRl SIidl 6 |

N

il AU 7Y fqp el H 9 969 Iugdd IR &I 99 DI :

1. $Hdd A 3R B
2. Had AR C
3. HAAdB AR C
4.A.B3IRC

1) 1

(2) 2

(3) 3

4) 4

R

1[Option ID=8729]
2[Option ID=8730]
3[Option ID=8731]
4[Option ID=8732]
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Match List I with List IT

LISTII
LIST I (Statement) (Value)
A [Base-10 (denary) value of the binarv number: 100000 I |100

[nternet service provider advertises a download speed of
B. |80 megabits per second. What 1s the time taken in I (14
seconds to download an 80 megabvte file 7
1A music file 1s 80 megabytes in size and MP3 file
icompression reduces the size of a music file by 90%. m ko
" |The number of MP3 files of the size after compression :
that can be stored on an 800 MB CD
IWhat 1s the denary (base-10) equivalent to the .

: il V. |8
hexadecimal digit E?

D.

Choose the correct answer from the options given below:

1. A-II, B-1V, C-1, D-TII

2. A-IIL, B-1V, C-I, D-II

3. A-L, B-1I, C-IV, D-III

4. A-1IL. B-1. C-IV, D-1II
1)1




) 2
3) 3
(4) 4

ol 11 YT 1 9 A eifo

T EE) = I @)
A [fe3Tem=T T - 100000 DT 89 - 10 (GURNTE | L [100
S-CX-c Wl Werdl 80 HT fae 2 Uid Y s &f
B. [S3als T FAIRT $L 51 U so WiMalge @1 | 1L [14
BISd ®l SI3TaIS B Hf Hal GHY T |
T GAiid BI3d TR | 80 HERE @i g 3R
MP3 TISd Udd- T BISe @ 90% ddh ®H B
C. [GaT 81 39 PR 3! a1 9 Ot 3 Bigal & m 32
e UHTd 800 TH &t o1 Slal T Tafed o o w@d]

B
o ggﬂﬁ%EﬁW@ﬂm@ﬂ-m)m e
i< T3U U f[dded| § 1 gl IR &l 999 DI :

1. A-II, B-1V, C-1, D-III
2. A-IIL, B-1V, C-I, D-II
3. A-L, B-II, C-TV, D-III
4. A-IIT, B-1, C-1V, D-II

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=8733]

2[Option ID=8734]

3[Option ID=8735]
4[Option ID=8736]

Sl. No.135
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Give below are two statements:
Statement I : CDs and DVDs are described as magnetic storage devices.

Statement II : Laser printers are made up of a print head consisting of nozzles that sprays droplets of ink onto the
paper to form characters.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

11

(2) 2

(3) 3

4 4




e pyafeuug -
DY 1 : iet 3R SIS TP UG Yfkidl (IUHRUM) & Y H O Id 6 |

DY I : TR fHfex T 319 2 I 54 g1d ¢ IS 21aRT & i 8 SIS R WIel &1 Sicl §al &
fSS®Id B ald AIoid aid © |

IR HUA & Alip H, Fid feU U f[dhedi § 9 el IR Bl 994 HIfoT
1. PYTISR IS 9d g |

2. HYF I AR I EH 3T § |
3. HYT I g, dfbd BYT I 3 TI © |
4 YT AT §, AT HYT I TAE |
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8737]
2[Option ID=8738]

3[Option ID=8739]
4[Option ID=8740]
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Give below are two statements:

Statement I : The Montreal Protocol to protect the Earth's ozone layer is to date the only United Nations
environment agreement to be ratified by every country in the world.

Statement II : Paris agreement establishes voluntary commitments by all parties to prepare, communicate and
maintain a Nationally Determined Contribution (NDC).

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.

4. Statement I is false but Statement II is true.
1) 1
(2 2
(3) 3
4) 4

TR FARTIUE:

DY : Gedl 1 31ST URd b GRAUT & U Hifead WeTbld SfTeide 1 qaiarul Hatl e Y I
THHTA BRR ¢ o1 134 & YdDH A B P g |

PUT I : TR HIR AL TR R FeiRa Frer (TSRl TaR S, Uftd o3 R 3RE0 o3 8
it eii gR1 Wiesd Faa<did |AMUd Hd1 @ |

IR HUA P 3HTcdlld I, i fGU MU [dhed] & TE IR D1 98 DIfoIe:

1. BYTIIR IS I © |
2. HYFI AR I SHI 3T § |
3. HYT I 8, AP PUYTII 3T E |
4 FYT AT 5, AP HYT 1 T © |
1) 1
(2) 2
(3) 3
4) 4




1[Option ID=8741]
2[Option ID=8742]
3[Option ID=8743]
4[Option ID=8744]
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Give below are two statements:

Statement I : Thermal pollution, usually effluent from cooling systems of power plants or other industries, alters
water temperature in a lake or stream.

Statement IT : Humans also cause thermal pollution by altering vegetation cover and run-off patterns.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

11

(2) 2

3) 3

4 4

BIERACAIC AR U

DY 1 : AT [degd YT rydT 3= Il ot wRiia yonferal I sfg:@ra, dardig uguor sl a1 oid
TaTE B 51 & a1 H gRad dR a1 |

DY 11 : A Wl Tl SHTTe 3R S Udlg! woyl I giRafdd $ drdig Ugyu Hdi g |

JWRIEKT HYH & 3ATdid |, i faU 70 fadhedi § Tl IR &1 999 Difoid:

1. BYTIIR IS 9T © |
2. HYFI AR I SH 3T g |
3. HYT I o, Al YT I 3T ¢ |
4. FYTI A . APAFYT N TAE |
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=8745]
2[Option ID=8746]
3[Option ID=8747]
4[Option ID=8748]
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Which of the following substances has the least Ozone Depleting Potential?

. Chlorofluorocarbons

. Hydro chlorofluorocarbons
. Carbon tetrachloride

. Halons

11

(2) 2

(3) 3

4) 4

fafeiad o 9 foog gard &t fieli sfgart GHIedl JIAdH ¢ 2

1. FARTFRIbTe
2. BIS S IAIRIURIBTa
3. BT CClHIRIS S

4. 509

W I =

=




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8749]
2[Option ID=8750]

3[Option ID=8751]
4[Option ID=8752]
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Potential regions of geothermal sites are:

A. Circum pacific belt
B. Himalayan Region
C. Delta

D. Subduction zones
E. Rann of Kachchh

Choose the correct answer from the options given below:

.A.Band C only
.B, C and D only
.A.Band D only
.A.Dand E only

1) 1
(2) 2
(3) 3
(4) 4

yaT ®Ql & G &

A. GR-YNT &7 (BT URITGS de)
B. feATad &4

C. STl

D. FEge (Fdsavr) &

E. Fed &I 0]

i fAu T Aol H 9 gl SR &1 98- Sifu :

1. Fad A, B, 3R C
2. $Had B, C 3R D
3. Hdd A, B3R D
4. A A, D 3R E

1)1
(2) 2
(3) 3
(4) 4

LS I o B

=

1[Option ID=8753]
2[Option ID=8754]
3[Option ID=8755]
4[Option ID=8756]
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International Solar Alliance (ISA) has its head quarter in:

1. United States
2. Switzerland
3. India
4, France

11

(2) 2




3) 3
4) 4

STRIPIY HR e (S1STHY) BT HEaTed afaiad § 9 ogi iR g -

1. TG I SHALIDT
2. RgcoRds

3. HRd

4.1

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8757]

2[Option ID=8758]

3[Option ID=8759]
4[Option ID=8760]
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National Council for Vocational Education and Training (NCVET), an overarching skills regulator, was notified
in the year:

. 2018
. 2015
. 1956
. 1961
1) 1
(2) 2
(3) 3
(4) 4

U 3ffd 31=s1g PId faf g, APty sarqais fRia ¢d ufRienn gikyg (gafidisd) feg oy sifdyfed
ge di?

. 2018
. 2015
. 1956
. 1961
11
() 2
(3) 3
4 4

L R

.

D

I

1[Option ID=8761]
2[Option ID=8762]
3[Option ID=8763]
4[Option ID=8764]
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Which of the following are the ancient Indian texts on Astronomy?

A. Sankhyakarika

B. Siddhanta Siromani
C. Surja Siddhanta

D. Grihya Sutras

Choose the most appropriate answer from the options given below:

1. A, B and C only
2. B and C only
3.A/B.Cand D
4. A, B and D only
1
2) 2




3) 3
(4) 4

frgfafad § 9 @md - G RuUEH yRdg dy T 2

A, SIS
B. RyGid R0
C. 9ol Rrgia
D. 8 g

il AU 7Y fdpedl H I 98 Iugdd IR Bl 99 DI

1. $adA. B3R C
2. FAAB AR C
3.A.B,C3{RD
4. A A, B3RD

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=8765]
2[Option ID=8766]
3[Option ID=8767]
4[Option ID=8768]
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Which of the following are the characteristics of conventional learning?

A. Cost-effective

B. Teacher-centered learning
C. Learner oriented

D. Prescribed curriculum

E. Require regular attendance.

Choose the correct answer from the options given below:

1.C,D and E only
2.B.Dand E only
3. A.DandE only
4. A, B and D only

1) 1

2) 2

3) 3

(4) 4

fgfafad § 9 gRuR® i =1 fagva &1t g 2
A. ARTA-YHTdt

B. f1e/@ - Hid femH

C. SMETHSdl - 3™

D. iy area=mat

E. Frafia SoRufa emew®
=i 73U U [dedi | U Ul IR &I 99 BT :

1.%ad C,D 3R E
2. $dd B. D 3R E
3. Hdd A, D 3RE
4. HGAA. B3RD




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8769]
2[Option ID=8770]

3[Option ID=8771]
4[Option ID=8772]
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Higher order thinking skills can be promoted through:

1. Rote learning
2. Active learning
3. Passive learning
4. Tutorials

1

(2 2

(3) 3

(4) 4

3= i Add ®iRe & Fufefad d O fead gy uianfed foar st asdi g 2

. giehg-3HienTy
e arferme

S O

=

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=8773]
2[Option ID=8774]

3[Option ID=8775]
4[Option ID=8776]
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Who among the following was the Governor-General and the Viceroy who passed the acts of incorporation in
January 1857, which provided for the establishment of universities at Calcutta, Bombay and Madras?

. Lord Curzon

. Lord Dalhousie

. Lord Lansdowne
. Lord Canning
1) 1

(2) 2

3) 3

4) 4

fafeRad # 9 98 a7k SR 3R araeRIg S o7 fSr- SHaR] 1857 H GHTARA &1 Sifafas oiivd o,
ST arehl, ST SR AR H fayfaemerdt i RUITHT 1 71 YRR gl 2

1. @IS Hoid
2. dIS Sdgloll
3. S A9
4. @IS ST

1 1
(2) 2
(3) 3
(4) 4

W I =

=

1[Option ID=8777]
2[Option ID=8778]




3[Option ID=8779]
4[Option ID=8780]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frafafad meiw & ufgu iR Uy &1 3R S

TS ATaIa P WA Bl TH 3G Wi I H JIoT off Thdl § : 3D THER THH —oRH | RY H 5
g [REPRYAD Tl & “gae Udd eid” 3R “HPbS! ol HHY & aR H feradi ¢ | 3u-! ugdl R #.
CTsH SfTala-Ta1Ral & 37U Tided ddb Ugd Ul ol debx Siieieh SRl AT | 28 ardl fhar fob gar fe1 &l
LA GHIT & A i < 0= TR 70, Uiieh1 i fagre =gl o1 fb “H=iebrd ¥d 2R 31T 9o J
IRIRG =9 4 THd g1 Uh g & iR o, 534 30H! U 9ed of | elsH A foran f& siigia 3 foaq
oS UHM W dIb iU SH Thal fobdl 38 fadiil e RIS 9 9 FHidd g1 e o | d d e
DI U UY “Wd 3R AT & 9 H AT B ] Sl “adls AT dTd ARl & [deG 54ls 39l &l Uh
BIUUR & T H ST B IGT U | THS SHGIeH HH U HH diF RO I Ied@-1g 4T | GUH 39 g
R 1 I el 1 SR Wi, YA MR SHiD] GHER HeH] - 39 HE & 99 UHF UR $HaR o |
S, g gl yyarct ffafe J fSr Afgareit 9 4Rt e # HiT faan | gHTSiard! eHered! g |
il b1 GHgd 1 form o fab 9 {9y 61 A gon! g diffd 739 | HadCd! W6 39 3P Afgarefi # 9
U 21 o151 T8 314a1 7 S| BT eaied R TRUIRI &1 | dieR 3R Qg gaiitied dgayul, a8 06
Sficia gl A1 forg- SISl Dl U8 UgHrN B IR AoiaR fohd fdb I=Teh1 1ol RS gHRI A I3 3R I8 b 3¢
Didug Afdaal o1 HRT D1 =R HIAT T |

What was the initial response of western press to Ghandhiji's salt march ?

1. Skeptical
2. Appreciative
3. Deceptive
4. Neutral
1) 1
(2) 2
3) 3
4 4

Tielisit & 9P iaidd & Ui gL iy o 3RIYD Hididhar a7 ot 2

1. 9l
2. U1 SHB
3. YHB
4. FROg
1) 1
2) 2
(3) 3
4) 4
1[Option ID=8781]
2[Option ID=8782]

3[Option ID=8783]
4[Option ID=8784]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

fafaiad e & ufeu sk ue &1 3| i

TS Hiald Pl WA Bl U 3= Hid G HI FIST o Gl § : SERID I THMER UHE —RH | RY H 8
g [RGB RYdSD it & “gadl Udd e AR “Hdho! ol HHY & R H feradi ¢ | 3o+ gt Ruid 7,
CT3H SfTGI-Teh1Idl & 37U+ Tided deb Ugd Ul ] debx Siieeh SRl AT | 38 a1l fobar fob gar a1 &l
LA GHITG & A il <STH IR FR 70, Uiiest &l fare =gl o1 fb “H=1ebr ¥d SR 31 - J
IRIRG 9 T THA g1~ Th Uiig & Ui o, S 0! U 9ad of | el5H A foran f& afigrad 3 foaq
99 UHM IR B S U b I8 Tt —mes FRI=Ieeb 4 9 i g1 e Y | o d el
B Ueh UY “Tdl 3fR “Aedr & 9 H G HA @1 Sl “340T5 AT drd Al & (a8 3975 Sl &1 Th
BIUUR & T4 H ST B GT U | THE 3HiGlIe HH U HH di- HRUI I Iea-1d 4T | GH g4 g
YR BT & el B AR Widn, R 3R RIS GHER A1l H 38 A" Il 9 UHH IR Har [ |
IR, gg Ugcll xyardl Tfafafer o4t fores wfgarstl 5 Rkl T # 4 feran | gATSaret eHdred! Igiareay |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

How did Time magazine describe Gandhi's salt march in its first report ?

1. People would reject the march.
2. He would not be able to complete it.
3. The British supported the march.
4. Gandhiji had the physical strength to lead the march.
1) 1
) 2
(3) 3
(4) 4

<13H Ul A 3+t uyH RYid § it & TH9& 3fieiad &1 by gulH fdar 2

1. ST 3eId Bl 3EIHR B Sl |

2.9 39 G gl B UIu |
3. 3Tl A 3figIa o1 gAY T |

4. 1iefISf H A @) S A B B AR 2l o

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=8785]
2[Option ID=8786]
3[Option ID=8787]
4[Option ID=8788]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

FrafaRad i &1 ufgu ok ug &1 IR gIioie

IS Hialdd Bl WA Bl U = Hid § HI JIST o Gl § : 3ERID I THMER UHH —eRH | HRY H 8
g [RGB RYASD il & “gadl gdd eia” AR “Hdho! ol HHY & R H feradi ¢ | 3911 ggal RUie H,
CTsH STGId-Ih1IAl & 37U Tided deb Ugd Ul ol b Siieieh SRl AT | 38 ardl fhar fb gar a1 &l
LA GHITG & A il <STH 0= TR 70, Uit i fagre =gl o fb “H=1ebrd §d 2R 31 Ia- J
IRIRG T9 4 THY g1~ Th Uiig & iR 51, 534 301 U 9ad of | el5H A forn f& sfigiaq A foaq
9 UHM IR BT S U [ I8 Tt —mep FRI=IeHe 4 9 i g1 e Y | o d el
DI U UY “¥d 3R ST & 20 § AT - ] Sl “adls AT a1 ARl & [deG 3978 39Tl &l Uh
BIUUR & T4 H SIAHTA B QT U | THE 3iGIe HH U HH oI HRUI I IeE-1d 4T | 54H 38 g
R T & Tl B AR Wi, GG 3R RIS GHER Ared] A 38 A" & 9 UHH IR Har [ |
SR, gg Ugcll xyard! Tfafafer o4 fores wfgarett 5 HRkl T # v fern | gATSaret eHdred! Ig ey |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

‘What was the first effect of the salt March ?

. People were confused.

. Gandhi's followers were reluctant.

. Gandhi was able to garner world attention

. Gandhiji's faith in Christianity got reinforced.
)1

(2 2

(3) 3

(4) 4

THS Sficia-T DT Tgell WHIF &1 4T 2

1. ST yfFd ot |

2. el & St S g U |

3. Tiefl T T S g HR U A |
4. 39T ¥ H TTieioil @ ST Uad gl Tl |

1)1
(2) 2
(3) 3
(4) 4

e el D —

1[Option ID=8789]
2[Option ID=8790]
3[Option ID=8791]
4[Option ID=8792]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

FrafaRad e &1 ufgu ok us &1 IR gIioie

TS Hiald Pl WA Bl U 3= Hid G HI FIST o Gl § : SERID I THMER UHE —RH | RY H 8
g [RGB RYdSD it & “gadl Udd e AR “Hdho! ol HHY & R H feradi ¢ | 3o+ gt Ruid 7,
CT3H SfTGI-Teh1Idl & 37U+ Tided deb Ugd Ul ] debx Siieeh SRl AT | 38 a1l fobar fob gar a1 &l
LA GHITG & A il <STH IR FR 70, Uiiest &l fare =gl o1 fb “H=1ebr ¥d SR 31 - J
IRIRG 9 T THA g1~ Th Uiig & Ui o, S 0! U 9ad of | el5H A foran f& afigrad 3 foaq
99 UHM IR B S U b I8 Tt —mes FRI=Ieeb 4 9 i g1 e Y | o d el
B Ueh UY “Tdl 3fR “Aedr & 9 H G HA @1 Sl “340T5 AT drd Al & (a8 3975 Sl &1 Th
BIUUR & T4 H ST B GT U | THE 3HiGlIe HH U HH di- HRUI I Iea-1d 4T | GH g4 g
YR BT & el B AR Widn, R 3R RIS GHER A1l H 38 A" Il 9 UHH IR Har [ |
IR, gg Ugcll xyardl Tfafafer o4t fores wfgarstl 5 Rkl T # 4 feran | gATSaret eHdred! Igiareay |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

The salt march was the first nationalist movement to attract/incur

. The attention of American press

. comments by the European press

. The wrath of the British Government

. A large number of women participants
1

(2 2

3 3

(@) 4

THS 3ficier TH1 YYA AYarcl sficier uf forer Fafciiad o1 sneivd fear |

1. 3{HRIP] U Bl M

2. IRYIY Uy i fewforgi

3. [9dFl TRER BT BT

4, A giaHIiEl o1 YRt g
o 2
3) 3
4) 4

el D —

1[Option ID=8793]
2[Option ID=8794]
3[Option ID=8795]
4[Option ID=8796]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

FrafaRad e &1 ufgu ok us &1 IR gIioie

TS Hiald Pl WA Bl U 3= Hid G HI FIST o Gl § : SERID I THMER UHE —RH | RY H 8
g [RGB RYdSD it & “gadl Udd e AR “Hdho! ol HHY & R H feradi ¢ | 3o+ gt Ruid 7,
CT3H SfTGI-Teh1Idl & 37U+ Tided deb Ugd Ul ] debx Siieeh SRl AT | 38 a1l fobar fob gar a1 &l
LA GHITG & A il <STH IR FR 70, Uiiest &l fare =gl o1 fb “H=1ebr ¥d SR 31 - J
IRIRG 9 T THA g1~ Th Uiig & Ui o, S 0! U 9ad of | el5H A foran f& afigrad 3 foaq
99 UHM IR B S U b I8 Tt —mes FRI=Ieeb 4 9 i g1 e Y | o d el
B Ueh UY “Tdl 3fR “Aedr & 9 H G HA @1 Sl “340T5 AT drd Al & (a8 3975 Sl &1 Th
BIUUR & T4 H ST B GT U | THE 3HiGlIe HH U HH di- HRUI I Iea-1d 4T | GH g4 g
YR BT & el B AR Widn, R 3R RIS GHER A1l H 38 A" Il 9 UHH IR Har [ |
IR, gg Ugcll xyardl Tfafafer o4t fores wfgarstl 5 Rkl T # 4 feran | gATSaret eHdred! Igiareay |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

According to the passage, the most significant outcome of the salt march was that

1. The British were able to nullify the effects of the movement.
2. Gandhiji could not achieve his aim of breaking the salt law.
3. The British realized the need for devolution of power with Indians.

4. The salt march ended as a mere local movement of tokenism.
1) 1
(2 2
(3) 3
4) 4

TR & STHR, THD SHicleT b1 Jalidd Agayul giRomd g # 3 s a1 2

1. 309 3ficicld & YHIG! Bf (AT PRI A |

2. TSl THS B & Iy & 30 T Dl Ut gl DR JIu |

3. 3{USH Bl R & TrY Rkl & ANTHA B STaRgdsdl BT Ugurd gl |
4. THSD 3T U -ITH AT b R Sfale & 0 H JHT gafl

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=8797]
2[Option ID=8798]
3[Option ID=8799]
4[Option ID=8800]




